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Q1) Attempt any 10 out of 12 from the following. [10]
a) Why is the speaker filled with grief in the poem ‘O captain! My captain!’?
b) Who is the poet of the poem ‘A prayer for my daughter’?
c) What is Farce?
d) Which are the two parties in any interview?
e) What did Sudha Murthy spot one day on her way to her hostel at the

IISC in Bangalore?
f) Saki is considered to be master of which genre?
g) Who has written the poem ‘Up Hill’?
h) According to the poet when is it ‘easy to get angry’?
i) Which narrative technique is used in the story ‘The Beggar’?
j) What are the themes of the story ‘The Nightingale and the Rose’?
k) Who is Muhammad Yunus?
l) Who is Indra Nooyi?

Q2) Attempt any 5 out of 7 from the following. [25]
a) What do you mean by “The ship has weathered every rack”?
b) What  sort of beauty does the poet solicit for his daughter in the poem ‘A

prayer for my daughter’?
c) What is ‘black money’ and how is it produced?
d) What makes Muhammad Yunus a development economist?
e) Do you think Indra Nooyi  is a role-model for people who want to enter the

world of finance?
f) Draw a character-sketch of Eleanor.
g) Explain: ‘You  cannot miss that inn.’ from the poem ‘Up-Hill’ by Christina

Rossetti.

P.T.O.
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Q3) Attempt any 5 out of 7 from the following. [25]
a) Why does Skvortsov employ Lushkov?
b) Attempt the character-sketch of the Nightingale.
c) What did Sudha Murthy write in her letter to JRD Tata?
d) What did Jimmy’s note reveal?
e) How will you handle the interview as a candidate?
f) What are the steps in making a presentation?
g) Explain the ways how human voice plays important role in conveying

messages.

Q4) Attempt any 1 out of 2 from the following.  [10]
a) What is ‘blog’ writing? Explain the tips for writing effective blog

posts.Write a blog on the topic: “Impact of Covid-19 on today’s
education system”.

b) Write a resume for the post of Accounts Manager.
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Q1) A) Fill in the blanks. [5]
i) As per ______ concept it is assumed that the business will work

long lasting.
(Business Entity Concept, Going Concern Concept, Money
Measurement concept)

ii) ______is the capital contributed by partner more than profit sharing
ratio.
( Working capital, Deficit Capital, Surplus Capital)

iii) Income and Expenditure Account _______
( Personal Account, Real Account, Nominal Account)

iv) The real owner of asset is called as ________
( Lesse, Lessor, User )

v) Good will is an ________ assets of the business.
( Intangible, Tangible, Current )

vi) In Case of charitable trust , Excess of Income over Expenditure is
called______
( Profit, Surplus, Deficits )

B) Match the Pairs. [5]
Group-A Group-B

i) AS-26 a) User of Asset
ii) Lessee b) Charitable Trust
iii) Service Motive c) Intangible Asset
iv) Profit Motive d) Total Profit/ Number of Years
v) Average Profit e) Business

P.T.O.
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Q2) Attempt the following questions ( Any 5) [25]

a) What are the methods of piecemeal distribution of cash?

b) Explain the concept of Separate Business Entity.

c) What are the disadvantages of Single Entry System?

d) Explain the various types of accounting vouchers.

e) The profit earned by firm in last 4 years is given below:

Year 2017 2018 2019 2020 2021

Profit Rs. 15,000 20,000 25,000 35,000 10,000

Calculate goodwill of firm based on 3 years of purchase by using average
profit method.

f) Prepare Royalty working table from the following information.

A ltd took a coal mine from B ltd on lease from 2014 for 10 years

Year Royalty

Payable

2014 43,000

2015 49,000

2016 54,500

2017 52,500

Minimum Rent is Rs.50,000. Excess of Minimum rent over royalty payable
can be recovered in next two year.

g) What are the advantages of Goods and service tax?

Q3) Attempt the following questions (any 5) [25]

a) Explain Money measurement Concept.

b) What are the salient features of GST?

c) State the difference between receipt and payment A/c and Income and
Expenditure A/c?
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d) What are the types of lease?
e) Average profit of firm is Rs. 2,35,000, Capital employed is

Rs. 15,00,000, Normal rate of  return is Rs. 10% Number of years
purchase 2 years. Calculate goodwill by using super profit method.

f) A keeps his books by single entry system. His position on 1st January,
2020 was as follows.

Cash at bank Rs. 5000, cash in hand Rs. 1,000 stock Rs.7,000, sundry
debtors Rs. 8,400, Machinery and plant Rs. 6,500, Bills receivable
Rs. 2,600, Creditors Rs. 2,500,  Bills payable Rs.4,000

Prepare statement of Affairs as on 1st January, 2020.

g) What are the advantage of Accounting software?

Q4) Attempt the following questions (any 1) [10]
a) What is the emerging trends in Accounting?

b) What are the different types of accounting software?

eeee



Total No. of Questions : 4]

[5952]-SODL-103
F.Y. B.Com.

113 : BUSINESS ECONOMICS
(2019 Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right  indicate full marks.

PA-4647 [Total No. of Pages : 6
SEAT No.

:

Q1) Attempt Any Ten. [10]

a) Microeconomics itself is called _____.

i) Macroeconomics ii) Competetive economics

iii) Economics of Labour iv) Economics of Agriculture

b) ______Economics itself is called group economics.

i) Fractional Economics ii) Economics of Agriculture

iii) Economics of Labor iv) Macro economics

c) The theory of diminishing marginal utility was introduced by_______
economist

i) David Ricardo ii) Alfred Marshall

iii) Adam Smith iv) Thomas Malthus

d) Demand and supply have a ______ relationship.

i) Positive ii) Negetive

iii) Neutral iv) None of these

e) ______ means the number of units purchased at a particular price.

i) Supply ii) Demand

iii) Shopping iv) Consumption

f) In Laws of Proportional change ________ is the second stage

i) Constant returns ii) Increasing returns

iii) Diminishing returns iv) None of these

P.T.O.
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g) The long run cost curve is shaped like an English_______

i) V ii) U

iii) W iv) N

h) Average Receipt (AR) = Total Receipt (TR) _______

i) Total number of unit produced

ii) Total number consumed

iii) Total number sold

iv) None of these

i) Geographically______ is not a type of market.

i) National market ii) Local market

iii) Saraf market iv) International market

j) Homogeneous goods are characteristic of ______ competition

i) Perfect competition ii) Monopolistic competition

iii) Oligopoly iv) Monopoly

k) ______ is a characteristic of monopolistic competition

i) Homogeneous goods ii) Lack of transportation costs

iii) Absolute mobility of factors iv) Advertising expenses

l)  The innovation theory of profit was propounded by ______

i) Prof. Shumpiter ii) Prof. Keynes

iii) Prof. Knight iv) Prof. Clark

Q2) Solve any Five questions. [25]
a) Explain the relationship between total revenue, average revenue and

marginal revenue.
b) State the law of diminishing marginal utility.
c) Explain the concept of price elasticity of demand in detail.
d) State the law of variable proportion.
e) State the characteristics of monopolistic competition.
f) Explain market classification.
g) State the characteristics of monopoly.
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Q3) Solve any Five questions. [25]
a) Explain Ricardo’s Rent theory.

b) Explain external economies.

c) Explain the concept of price discrimination.

d) State the characteristics of dualism.

e) Explain the law of supply with a diagram.

f) Explain the characteristics of Oligopoly.

g) State the characteristics of the perfect competition.

Q4) Write the answer to any one question. [10]
a) Explain the scope and importance of business economics by giving the

definition of business economics.

b) Explain the type of cost in detail.


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à.à.à.à.à.1) H$moUVohr Xhm àíZ gmoS>dm. [10]

i) gyú‘ AW©emómbmM ................ åhUVmV.

A) ñWyb AW©emó ~) A§ebjr AW©emó

H$) l‘mMo AW©emó S>) eoVrMo AW©emó

ii) ............... AW©emómbmM g‘yh AW©emó Ago åhUVmV.

A) A§{eH$ AW©emó ~) eoVrMo AW©emñÌ

H$) l‘mMo AW©emó S>) ñWyb AW©emó

iii) KQ>Ë¶m gr‘m§V Cn¶moJrVoMm {gX²Ym§V ................ AW©emókmZo ‘m§S>bm.

A) S>opìhS> [aH$mS>m} ~) Aë’«o$S> ‘me©b

H$) A°S>‘ pñ‘W S>) Wm°‘g ‘mëWg

iv) ‘mJUr Am{U nwadR>m ¶m‘Ü¶o ................. g§~§Y AgVmo.

A) g‘ ~) ì¶ñV

H$) VQ>ñW S>) ¶mn¡H$s Zmhr

v) ................. åhUOo {d{eï> {H$‘Vrbm IaoXr Ho$br OmUmar ZJ g§»¶m hmo¶.

A) nwadR>m ~) ‘mJUr

H$) IaoXr S>) Cn^moJ

vi) à‘mU à{V’$bmÀ¶m {Z¶‘m§‘Ü¶o .............. {h Xþgar AdñWm AgVo.

A) pñWa à{V’$b ~) dmT>Ë¶m à{V’$b

H$) KQ>Vo à{V’$b S>) ¶mn¡H$s Zmhr
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vii) XrK©H$mbrZ IM© dH«$ B§J«Or ................ AmH$mamMm AgVmo.

A) V ~) U
H$) W S>) N

viii) gamgar àmár  (AR) = EHy$U àmár (TR) ÷ ................

A) EHy$U ZJg§»¶m ~) Cn^moJbobr ZJg§»¶m

H$) {dH$bobr ZJg§»¶m S>) ¶mn¡H$s Zmhr

ix) ^m¡Jmo{bH$ Ñï²>¶m .............. hm ~mOmamMm àH$ma Zmhr.

A) amï´>r¶ ~mOma ~) ñWmZrH$ ~mOma

H$) gam’$ ~mOma S>) Am§Vam©ï´>r¶ ~mOma

x) EH${OZgr dñVy ho .............. ñnY}Mo d¡{eï>o Amho.

A) nyU© ñnYm© ~) ‘ºo$Xmar¶wº$ ñnYm©

H$) AënOZm{YH$ma ñnYm© S>) EH$m{YH$ma

xi) ............... ho ‘ºo$Xmar¶wº$ ñnY}Mo d¡{eï>o Amho.

A) EH${OZgr dñVy ~) dmhVyH$ IM© A^md

H$) KQ>H$m§Mr n[anyU© JVrj‘Vm S>) Om{hamV IM©

xii) Zâ¶mMm ZdàdV©Z {gX²Ym§V .................. ¶m§Zr ‘m§S>bm.

A) àm. ewnrQ>a ~) àm. Ho$Ýg

H$) àm. ZmB©Q> S>) àm. ³bmH©$

à.à.à.à.à.2) H$moUVohr nmM àíZ gmoS>dm. [25]

A) EHy$U àmár, gamgar àmár d gr‘m§V àmár ¶mVrb g§~§Y ñnï> H$am.

~) KQ>Ë¶m gr‘m§V Cn¶mo{JVoMm {Z¶‘ gm§Jm.

H$) ‘mJUrMr qH$‘V bd{MH$Vm g§H$ënZm g{dñVa ñnï> H$am.

S>) ~XbË¶m à‘mUmMm {Z¶‘ gm§Jm.

B) ‘ºo$Xmar ¶wH$V ñnY}Mr d¡{eï>o gm§Jm.

’$) ~mOmamMo dJuH$aU ñnï> H$am.

¶) ‘ºo$XmarMr d¡{eï²>¶o gm§Jm.
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à.à.à.à.à.3) H$moUVohr nmM àíZ gmoS>dm. [25]

A) [aH$mS>m}Mm I§S> {gX²Ym§V ñnï> H$am.

~) ~mø ~MVr ñnï> H$am.

H$) ‘yë¶ ôX g§H$ënZm ñnï> H$am.

S>) X²d¶m{YH$mamMr d¡{eï>o gm§Jm.

B) nwadR²>¶mMm {Z¶‘ AmH¥$Vrgh ñnï> H$am.

’$) Aën {dH«o$Vm{YH$mamMm AW© gm§JyZ d¡{eï>o ñnï> H$am.

¶) nyU© ñnY}Mr d¡{eï>o gm§Jm.

à.à.à.à.à.4) H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

A) ì¶mdgm{¶H$ AW©emómMr ì¶m»¶m gm§JyZ ì¶mdgm{¶H$ AW©emómMr ì¶már Am{U ‘hËd ñnï>
H$am.

~) IMm©Mo àH$ma g{dñVa ñnï> H$am.


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Q1) Attempt any ten of the following. [10]
a) What is meant by simple interest?
b) What is EMI?
c) What is Cumulative Preference shares?
d) Explain NAV of mutual funds?
e) What is full form of SEBI?
f) On which value dividend is always obtained?
g) What is meant by population in Statistics?
h) Explain random sampling?
i) What is Index Number?
j) What is relation between mean, median and mode?
k) What is meant by column matrix?
l) Write the formula of regression line on Y on X?

Q2) Attempt any five of the following. [25]
a) What are the requeirments of good measure of central tendency?
b) Find the compound interest on Rs. 5000 for 3 years at 10% p.a.?
c) Explain any five types of Matrices?
d) Find the value of determinant for the following matrix

2 1 3
A= 1 5 1

4 2 3

 
 
 
  

P.T.O.
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e) Find mean, median and mode of the following data
19, 20, 22, 22, 17, 22, 20, 23, 17, 18.

f) Marks given by two judges series of eight one-act play in a drama
competition
Marks by Judge A 81 72 60 33 29 11 56 42
Marks by Judge B 75 56 42 15 30 20 60 80
Obtain Spearman Rank Correlation coefficient.

g) Construct the Index number of prices for the year 1995 with 1990 as a
base year using Fishers Ideal Method.
Commodity 1990 1995

Price Quantity Price Quantity
A 18 2 24 1.5
B 12 30 15 15
C 20 15 30 15
D 10 30 19 25

Q3) Attempt any five of the following. [25]
a) Write note on Scatter Diagrams?
b) Calculate the standard deviation and coefficient of variation for the

frequency distribution of marks of 100 candidates given below:
Marks 0-20 20-40 40-60 60-80 80-100
Frequency 5 12 32 40 11

c) A manufacturing company produces two types of batteries low volt and
medium volt. A low volt battery requires 1 hour processing time on
machine and 2 hours of labour time. A medium volt battery requires
2 hours of processing times on machine and 1.5 hours of labour time. In
a week, processing machine is available for 70 hours and labour time
available is 60 hours. The profit due to each of the low volt battery is
Rs.60 whereas due to medium volt battery it is Rs 75. Formulate the
problem as L.P.P. with a view to maximise the total profit.

d) Two companies have shares of 12% at 124 and 16% at 145. In which of
the shares would the investment be more profitable?

e) A study of wheat prices at Mumbai and Kanpur yield the following data
Mumbai kanpur

Arithematic mean Rs 20 Rs 21
Standard deviation Rs 0.326 Rs 0.207
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Correlation coefficient between the prices at Mumbai and Kanpur is 0.774.
Estimate the price at Kanpur if the price at Mumbai is Rs 25 using the
above data.

f) Calculate Consumer price Index using weighted average of Price Relatives
method for the year 1986 and 1985 as the base for the following data:
Commodity Quantity Price in Rs.

1985 1986
A 100 8 12
B 25 6 8
C 10 5 15
D 20 10 25

g) Calculate A.M., G.M. and H.M.
8, 12, 15, 18, 22
and show that: A.M.G.M. H.M.

Q4) Attempt any one of the following:  [1×10=10]
a) What points to be taken into consideration in the construction of Index

Nembers?
b) The following statistical data provides the height (in inches) of the father

and his son. Using the Karl Person’s formula compute the correlation
coefficient between the height of fathers and sons.
Height of Father (X) 65 66  67  67 68 69 70 72
Height of son (Y) 67 68 65 68 72 72 69 71

eeee
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Q1) Attempt any ten. [10]
a) The processed data is called as _____.

i) Data ii) Information
iii) Internal iv) External

b) The printed output from a computer is called ______.
i) Hard Copy ii) Soft Copy
iii) Screen Copy iv) Byte

c) _____is the storage space in the computer, where data is to be processed
and instructions required for processing are stored.
i) Output device ii) Utility program
iii) Interpreter iv) Computer memory

d) MS - Office includes______
i) RAM ii) MS-Word
iii) Screen iv) Hardware

e) LAN stand for______
i) Land Area Network ii) Least Area Network
iii) Leave Area Network iv) Local Area Network

f) WWW stands for _____
i) World Whole Web ii) Web World Wide
iii) Wide World Web iv) World Wide Web

g) To protect your computer from phishing, malware, and other security
threats use genuine______software.
i) Virus ii) Malicious
iii) Trojan iv) Anti-Virus

P.T.O.



2[5952]-SODL-105

h) B2C is _______.
i) E-Commerce ii) Business to Consumer
iii) E-Learning iv) E-Transfer

i) NEFT and RTGS are _______ system.
i) Cheque truncation process
ii) Electronic fund transfer from bank to bank
iii) Electronic payment products within a bank
iv) Various deposit products

j) Mobile commerce also known as _______.
i) M-commerce ii) M - com
iii) M-COM iv) E-commerce

k) ______ type of card is a kind of payment card that transfers fund directly
from the consumer’s bank account to the merchant.
i) Debit card ii) Credit card
iii) Smart card iv) Payment card

l)  _______ Program is used by web clients to view the web pages.
i) Web browser ii) Protocol
iii) Web server iv) Search Engine

Q2) Attempt any Five. [25]
a) Briefly discuss the software and hardware components.
b) Discuss encryption scheme major parts.
c) Which are the functions of E-Commerce?
d) Explain Technologies Used in E-Commerce Systems.
e) Discuss basic components of E-SCM.
f) Explain type of Electronic Fund Transfer (EFT).
g) Write difference between E-Commerce and M-Commerce.

Q3) Attempt any Five. [25]
a) What is the difference between system and application software?
b) Explain Types of Operating Systems.
c) Explain the common uses of information technology?
d) Explain steps that e-commerce companies typically follow in leveraging

their information.
e) Discuss example of E-CRM software in the market.
f) Explain Working of e-Cash.
g) What is M-Commerce? Explain its scope and applications.
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Q4) Attempt any One. [10]
a) Explain Block Diagram of Computer with suitable diagram.
b) Explain the various modes of e-commerce operations with example.

eeee
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Q1) Attempt any ten out of twelve from the following. [10]

i) The functions to be performed in an office can be categorized as.

a) Primary functions b) Secondary functions

c) Management functions d) Both (a) and (c)

ii) Who is responsible for office management?

a) receptionist b) office manager

c) managing director d) chief executive officer

iii) The qualities required to be possessed by an office manager are.

a) educating & training b) experience

c) leadership d) All of these

iv) _________ ensures whether performance of work in office is as per the
schedule.

a) office organisation b) office management

c) office control d) office system

v) Office layout is important for a business because.

a) it increase the efficiency of office work

b) it enhances the utilization of office space

c) it facilitates supervision

d) all of the above

vi) One of the tool used to perform the function of processing of information is.

a) filing & indexing b) noting

c) audit & vouching d) reports & returns

P.T.O.
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vii) In filing, folders, drawers, cabinets and cupboards are required.

a) vertical b) contralised

c) horizontal d) decentralised

viii) __________ may be defined as a guide to locate the required file.

a) indexing b) filing

c) vouching duxapui d) none of the above

ix) Are issued to convey the same information to a large number of employees
of an organisation.

a) Office orders b) Office circulars

c) Office memos d) None of these

x) Need for disposal of records arises due to

a) lack of storage space

b) increasing cost of filling and storing records

c) increasing volume of records

d) all of the above

xi) _________machine is used to record speech on different media.

a) Duplicating b) Dictating

c) Telephone answering d) None of the above

xii) Mechanical aids used in the mail department comprise.

a) letter  opening machine b) paper folding machine

c) addressing machine d) all of the above

Q2) Attempt any five out of seven from the following. [25]

a) What are the functions of modern office?

b) State the principles of management.

c) What are the benefits of office manuals?

d) Briefly explain the significance of flow of work?

e) Write a short note on SMART goals.

f) What are the qualities of a good reports?

g) What are the objectives of standardization?
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Q3) Attempt any five out of seven from the following. [25]

a) What are the objectives of mechanization of an office?

b) What are the aims of scientific office management?

c) What are the advantages of digitalization of office records?

d) Write a short note on features of ideal flow of work.

e) Briefly explain the various managerial skills.

f) Why is office communication so significant?

g) Why is work measurement so important?

Q4) Attempt any one out of two from the following. [10]

a) Define office records. Explain the objectives and significance of office
records.

b) What is office automation? Explain the objectives and advantages of
office automation.

… … …
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à.à.à.à.à.1) Imbrbn¡H$s ~mamn¡H$s Xhm àíZ gmoS>dm. [10]

i) H$m¶m©b¶mV nma nmS>ë¶m OmUmè¶m H$m¶mªMo dJuH$aU Ho$bo H$emZ OmD$ eH$Vmo.

A) àmW{‘H$ H$m¶} ~) Xþæ¶‘ H$m¶}

H$) ì¶dñWmnZ H$m¶} S>) (A) Am{U (~) XmoÝhr

ii) H$m¶m©b¶rZ ì¶dñWmnZmMr O~m~Xmar H$moUmMr AgVo?

A) [agoße{ZñQ> ~) H$m¶m©b¶ ì¶dñWmnZ

H$) ì¶dñWmnH$s¶ g§MmbH$ S>) ‘w»¶ H$m¶©H$mar A{YH$mar

iii) Am°{’$g ‘¡ZoOa H$S>o H$moUVoo JwU Amdí¶H$ AgVo.

A) {ejU d à{ejU ~) AZŵ d

H$) ZoV¥Ëd S>) ¶m gd©

iv) ...............H$m¶m©b¶mVrb H$m‘H$mO doimnÌH$mZwgma Amho ¶mMr ImÌr H$am.

A) H$m¶m©b¶ g§ñWm ~) H$m¶m©b¶ ì¶dñWmnZ

H$) H$m¶m©b¶ {Z¶§ÌU S>) H$m¶m©b¶ n«Umbr

v) H$m¶m©b¶rZ ‘m§S>Ur ì¶dgm¶mgmR>r ‘hËdmMr AgVo H$maU

A) Ë¶m‘wio H$m¶m©b¶rZ H$m‘H$mOmMr H$m¶©j‘Vm dmT>Vo.

~) Vo ¶w{Q>brQ>r ¶w{Q>bm¶PoeZ Am°{’$g ñnog dmT>dVo.

H$) ho n¶©doj‘ gwb^ H$aVo.

S>) darb gd©.
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vi) ‘m{hVrÀ¶m à{H«$¶oMo H$m¶© H$aÊ¶mgmR>r dmnaë¶m OmUmè¶m gmYZm§n¡H$s EH$.............

A) ’$m¶btJ d BS>op³g¨J ~) Zm|X H$aUo

H$) Am°{S>Q> Am[¨U nhmUo S>) Ahdmb naVmdm
vii) ’$m¶qbJ ‘Ü¶o, ’$moëS>a, S´>mda Am{U H°${~ZoQ> H$nmQ> Amdí¶H$ AmhoV.

A) Cä¶m ~) {Z¶§ÌrV

H$) j¡{VO S>)  {dH|${ÐV

viii) Amdí¶H$ ’$mB©b emoYÝ¶mgmR>r ‘mJ©Xe©H$ åhUyZ n[a^m{fV Ho$bo OmD$ eH$Vo.

A) AZwH«$‘{UH$m ~) ’$m¶qbJ

H$) nhmV Amho S>) EH$hr Zmhr

ix) EImXr ‘mhrVr ‘moR²>¶m g§»¶oZo H$‘©Mmè¶mn¶ªV nmoMdÊ¶mgmR>r Omar Ho$br OmVo.

A) H$m¶m©b¶rZ AmXoe ~) Am°’$a n[anÌH$

H$) Am°{’$g ‘o‘mo S>)  EH$hr Zmhr

x) aoH$m°S>©Mr {dëhodmQ> bmdÊ¶mMr JaO ¶m‘wio CÜX^dbr.

A) ñQ>moaoO ñnogMr H$‘VaVm

~) Zm|Xr ^aÊ¶mMr Am{U gmR>dÊ¶mMr dmT>Vr qH$‘V

H$) Zm|XrMo à‘mU H$mT>>Uo

S>) darb gd©

xi) doJdoJù¶m ‘mÜ¶‘mdarb ^mfU aoH$m°S>© H$aÊ¶mgmR>r ‘erZMm dmna Ho$bm OmVo.

A) Z¸$b H$aUo ~) hþHw$‘ehm

H$) XþaÜdZr CÎma XoUoo S>)  darb n¡H$s H$mhrhr Zmhr

xii) ‘ob dmnamV dmnaë¶m OmUmè¶m ¶m§{ÌH$ ghma¶m§‘Ü¶o Aja CKS>Ê¶mMo ¶§Ì AgVo.

A) boQ>a Amon{Z§J ‘{eZ ~) nona ’$mobqS>J ‘{eZ

H$) A°S´>oqgJ ‘{eZ S>) darb gd©

à.à.à.à.à.2) Imbrb gmV n¡H$s nmM àíZ gmoS>dm. [25]

A) AmYw{ZH$ H$m¶m©b¶mMr H$m¶} H$m¶ AmhoV?

~) ì¶dñWmnZmMr VËdo gm§Jm.
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H$) Am°{’$g ‘¡Ý¶wAbMo ’$m¶Xo H$m¶ AmhoV?

S>) H$m‘mÀ¶m àdmhmMo ‘hËd gm§Jm.

B) smart Ü¶o¶mda EH$ {Q>nUr {bhm.

’$) Mm§Jë¶m AdhmbmMo JwU H$m¶ AmhoV?

¶) ‘mZH$sH$aUmMr C{Ôï>o H$m¶ AmhoV?

à.à.à.à.à.3) Imbrb gmV n¡H$s nmM àíZ gmoS>dm. [25]

A) H$m¶m©b¶mÀ¶m ¶§ÌUm H$madmB©Mr C{Ôï>o H$m¶ AmhoV?

~) d¡km{ZH$ H$m¶m©b¶ ì¶mdñWmnZmMo C[Ôï>o H$m¶ AmhoV?

H$) Am°{’$g aoH$m°S>© À¶m {S>{OQ>bm¶PoeZ¶o H$m¶ ’$m¶Xo AmhoV?

S>) AmXe© àdmh H$m¶m©À¶m d¡{eîQ>çmda EH$ {Q>n {bhm.

B) {d{dY ì¶mdñWmnH$s¶ H$m¡eb¶o WmoS>³¶mV ñnï> H$am.

’$) H$m¶m©b¶ g§dmX BVHo$ ‘hËdmMo H$m Amho? ñnï> H$am.

¶) H$m‘mMo ‘moO‘mn BVHo$ ‘hËdmMo H$m Amho? ñnï> H$am.

à.à.à.à.à.4) Imbrb XmoZ n¡H$s EH$ àíZ gmoS>dm. [10]

A) H$m¶m©b¶rZ Zm|Xr n[a^m{fV H$am. H$m¶©b¶rZ A{^boImMr C{Ôï>o Am{U ‘hËd ñnï> H$am.

~) Am°{’$g Am°Q>mo‘oeZ åhUOo H$m¶? Am°{’$g Am°Q>mo‘oeZMr C{Ôï>o Am{U ’$m¶Xo ñnï> H$am.

$

… … …
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115B : BANKING & FINANCE
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Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right  indicate full marks.

PA-4651 [Total No. of Pages : 6

SEAT No. :

Q1) Attempt any ten from the following. [10]
i) RTGS started service in India since _____

a) 2004 b) 2005

c) 2006 d) 2007

ii) The negotiable instrument act enacted in year______

a) 1781 b) 1881

c) 1981 d) 1681

iii) _____is not precidency bank.

a) Bank of Bengal b) Bank of Madras

c) Bank of Bombay d) Bank of Delhi

iv) Current account became useful for_______

a) Farmer b) Middle class people

c) Salaried person d) Big businessman

v) _____ is not a type of institutional bank account.

a) Joint account

b) Sole proprietorship account

c) Partnership firm account

d) Hindu undivided family account

vi) NEFT means _____

a) National electronic funds transfer

b) National electronic fee transfer

c) National electronic forum treaty

d) National electronic finance target

vii) ______ not included to capital and liability side of bank’s balance sheet.
a) fixed asset b) deposits
c) borrowings d) cash reserve and surplus

P.T.O.
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viii) ______is not types of bankers cheque.

a) demand cheque b) bearer cheque

c) order cheque d) crossed cheque

ix) The definition of endorsement is given in section_______ of negotiable
instrument act 1881.

a) 13 b) 14

c) 15 d) 16

x) The full form of C.V.V. is ______

a) card varification value b) card varification voting

c) card varification variant d) card varification weightage

xi) The bank of England was established in the year_______.

a) 1594 b) 1694

c) 1794 d) 1894

xii) In India_____ private banks was nationalized in the year of 1980.

a) 06 b) 07

c) 08 d) 09

Q2) Attempt any five. [25]

a) Explain the types of short term loan?

b) Write information about fixed deposit account?

c) Explain the reasons of closing of bank account by bank?

d) Write information about sole proprietorship account.

e) Write short note on illiterate person’s bank account.

f) Write information about immidiate mobile payment service.

g) Explain the process of remittance by demand draft?

Q3) Attempt any five. [25]

a) Write characteristics of bill of exchange.
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b) Explain the following concept of crossing of bankers cheque.

i) General crossing

ii) Special crossing

c) Explain the effects of endorsement?

d) Explain the concept of restrictive endorsement?

e) Explain the advantages of mobile banking?

f) Explain the advantages of net banking?

g) Write short note on passbook printing.

Q4) Attempt any one. [10]

a) Explain the evolution of Indian banking business?
b) Explain the following sides of bank balance sheet?

i) Capital and liability
ii) Assets

… … …
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[5952]-SODL-107
F.Y.B.Com.

115B : BANKING & FINANCE
(2019 Pattern)
 (‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-4651

à.à.à.à.à.1) H$moUVohr Xhm àíZ gmoS>dm. [10]

i) Ama. Q>r. Or. Eg. godoMr gwédmV ^maVmV ........... gmbr Pmbr.

A) 2004 ~) 2005

H$) 2006 S>) 2007

ii) MbZj‘ XñVEodO H$m¶Xm ............. gmbr Pmbm.

A) 1781 ~) 1881

H$) 1981 S>) 1681

iii) ................. hr ào{gS>|gr ~¢H$ Zmhr.

A) ~¢H$ Am°’$ ~§Jmb ~) ~¢H$ Am°’$ ‘Ðmg

H$) ~¢H$ Am°’$ ~må~o S>) ~¢H$ Am°’$ {X„r

iv) Mmby ImVo ................ ¶m§Zm Cn¶wº$ R>aVo.

A) eoVH$ar ~) ‘Ü¶‘dJu¶ bmoH$

H$) nJmaXma ì¶º$s S>) ‘moR>o ì¶mnmar

v) ................ hm g§»¶mË‘H$ ~¢H$ ImË¶mMm àH$ma Zmhr.

A) g§¶wº$ ImVo ~) d¡¶{º$H$ ‘mbH$sMr g§ñWm ImVo

H$) ^mJrXmar g§ñWm ImVo S>) qhXÿ A{d^º$ Hw$Qy>§~ ImVo

vi) ZoâQ> (NEFT) åhUOo ...................

A) Z°eZb Bbo³Q´>m°{ZH$ ’§$S>g² Q´>mÝg’$a ~) Z°eZb BboQ´>m°{ZH$ ’$s Q´>mÝg’$a

H$) Z°eZb Bbo³Q´>m°{ZH$ ’$moa‘ [Q´>Q>r S>) Z°eZb BboQ´>m°{ZH$ ’$m¶ZmÝg Q>mJ}Q
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vii) ~¢H$ Vmio~§XmÀ¶m ^m§S>db d Xm{¶Ëd ~mOwbm .............. Mm g‘mdoe hmoV Zmhr.
A) ñWmda ‘mb‘Îmm ~) R>>odr

H$) KoVbobr H$O} S>) amIrd {ZYr d A{Y³¶

> viii) ............. hm YZmXoemMm àH$ma Zmhr.
A) ‘mJUr YZmXoe ~) dmhH$ YZmXoe

H$) AmXoe YZmXoe S>) aoIm§{H$V YZmXoe

ix) MbZj‘ XñVEodO H$m¶Xm 1881 À¶m ........... ì¶m H$b‘mV n¥ð>m§H$ZmMr ì¶m»¶m {Xbr Amho.

A) 13 ~) 14

H$) 15 S>) 16

x) gr ìhr. ìhr. Mo nwU© én ........ ho Amho.

A) H$mS>© ìho[a{’$Ho$eZ ìhë¶y ~) H$mS>© ìho[a{’$Ho$eZ dmoQ>tJ

H$) H$mS>© ìho[a{’$Ho$eZ do[a¶§Q> S>) H$mS>© ìho[a{’$Ho$eZ doQ>oO

xi) ~¢H$ Am°’$ B§½b±S>Mr ñWmnZm ............. gmbr Pmbr.

A) 1594 ~) 1694

H$) 1794 S>) 1894

xii) ^maVmV 1980 ‘Ü¶o .............. ImgJr ~±H$m§Mo amï´>r¶rH$aU Pmbo.

A) 06 ~) 07

H$) 08 S>) 09

à.à.à.à.à.2) H$moUVohr nmM àíZ gmoS>dm. [25]

A) Aën‘wXV H$Om©Mo àH$ma ñnîQ H$am.

~) ‘wXV R>od ImË¶mMr ‘m{hVr {bhm.

H$) ~±Ho$ H$Sy>Z ImVo ~§X H$aÊ¶mMr H$maUo ñnï> H$am.

S>) EH$b ‘mbH$sMr g§ñWm ¶m ImË¶mMr ‘m{hVr {bhm.

B) {Q>n {bhm - {Zaja ì¶º$sMo ImVo.

’$) VËH$mi ‘mo~mB©b ^aUm godm ¶m~Ôb WmoS>³¶mV ‘m{hVr {bhm.

¶) ‘mJUr YZmH$fm©À¶m ghmæ¶mZo n¡go nmR>{dÊ¶mMr à{H«$¶m ñnîQ> H$am.
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à.à.à.à.à.3) H$moUVohr nmM àíZ gmoS>dm. [25]

A) {d{Z‘¶ nÌmMr d¡{eï>o {bhm.

~) YZmXoe aoIm§H$ZmÀ¶m Imbrb g§H$ënZm ñnï> H$am.

i) gm‘mÝ¶ aoIm§H$Z ii) {deof aoIm§H$Z

H$) n¥ð>m§H$ZmMo n[aUm‘ ñnï> H$am.

S>) {Z~ªYmË‘H$ n¥ð>m§H$ZmMr g§H$ënZm ñnï> H$am.

B) ‘mo~mB©b ~¢H$s¨JMo ’$m¶Xo ñnï> H$am.

’$) ZoQ> ~¢H$s¨JMoo ’$m¶Xo ñnï> H$am.

¶) {Q>n {bhm -nmg~wH$.

à.à.à.à.à.4) H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) ^maVmVrb ~¢H$ ì¶dgm¶mMr CËH«$m§Vr ñnï> H$am.

~) ~±H$ Vmio~§XmÀ¶m Imbrb ~mOy ñnï> H$am.

i) ^m§S>db d Xm{¶Ëd

ii) ‘mb‘Îmm

… … …
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SEAT No. :

Q1) Attempt any ten out of twelve from the following. [10×1=10]
i) Write the definition of Commercial Geography.
ii) Give two examples of secondary economic activity.
iii) Name two trees of equatorial evergreen forest.
iv) State any two measures for conservation of water resources.
v) Write  two disadvantages of over population.
vi) What is dependency ratio?
vii) Name two centres of cotton textile industry in india.
viii) State two advantages of road transport.
ix) What is trade?
x) Name two geographical tourist places in India.
xi) What is tourism?
xii) What is a contour line?

Q2) Attempt any five out of seven from the following. [5×5=25]
a) Approaches of Commercial Geography.
b) Primary economic activity.
c) Renewable resources.
d) Energy resources.
e) Factors affecting on Trade.
f) Write the physical factors affecting tourism.
g) Write the disadvantages of chorepleth method.

P.T.O.
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Q3) Attempt any five out of seven from the following. [5×5=25]

a) Nature of Commercial Geography.

b) Tertiary economics activities.

c) Non-renewable resources.

d) Advantages and disadvantages of road transport.

e) Role of WTO in International Trade.

f) Write the cultural factors that affect tourism.

g) Describe the elements of the map.

Q4) Attempt any one out of two from the following. [1×10=10]

a) Give the classification of resources and describe man-made resources.

b) Explain the factors affecting on the industrial location.


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115 C : COMMERCIAL GEOGRAPHY
(2019 Pattern)
(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àý A{Zdm¶© AmhoV.

2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>mì¶mV.
3) ZH$mem ñQ>opÝgëg dmnaÊ¶mg nadmZJr Amho.
4) COì¶m ~mOyH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-4652

à.à.à.à.à.1) Imbrb n¡H$s H$moUVohr 10 àý gmoS>dm. [10×1=10]

i) ì¶mnmar ŷJmobmMr ì¶m»¶m {bhm.

ii) {ÛVr¶H$ ì¶dgm¶mMr XmoZ CXmhaUo Úm.

iii) {dfwdd¥Îmr¶ gXmh[aV AaÊ¶mVrb XmoZ d¥jm§Mr Zmdo {bhm.

iv) Ob g§gmYZ g§dY©ZmMo H$moUVohr XmoZ Cnm¶ gm§Jm.

v) A{V[aº$ bmoH$g§»¶oMo XmoZ VmoQ>o {bhm.

vi) Adb§{~Ëd ^ma åhUOo H$m¶?

vii) ^maVmVrb XmoZ gwVr dómoÚmoJ H|$Ðm§Mr Zmdo {bhm.

viii) añVo dmhVwH$sMo XmoZ ’$m¶Xo gm§Jm.

ix) ì¶mnma åhUOo H$m¶?

x) ^maVmVrb XmoZ ^m¡Jmo{bH$ n¶©QZ ñWim§Mr Zmdo {bhm.

xi) n¶©Q>Z åhUOo H$m¶?

xii) g‘moƒ aofm åhUOo H$m¶?

à.à.à.à.à.2) Imbrb n¡H$s H$moUVohr 5 àý gmoS>dm. [5×5=25]

A) ì¶mnmar ŷJmobmÀ¶m Aä¶mg nÕVr.

~) àmW{‘H$ loUrMo ì¶dgm¶.

H$) nwZZ©{dH$aUr¶ gmYZ g§nXm.
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S>) D$Om© g§gmYZo.

B) ì¶mnmamda n[aUm‘ H$aUmao KQ>H$.

’$) n¶©Q>Zmda n[aUm‘ H$aUmao àmH¥${VH$ KQ>H$ {bhm.

¶) N>m¶m nÕVrMo ’$m¶Xo VmoQ>o {bhm.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr 5 àý gmoS>dm. [5×5=25]

A) ì¶mnmar ŷJmobmMo ñdê$n.

~) V¥Vr¶ loUrMo ì¶dgm¶.

H$) AnwZZ©{dH$aUr¶ gmYZ g§nXm.

S>) añVo dmhVwH$sMo ’$m¶Xo VmoQ>o.

B) Am§Vaamï´>r¶ ì¶mnmamVrb WTO Mr ŷ{‘H$m.

’$) n¶©Q>Zmda n[aUm‘ H$aUmao gm§ñH¥${VH$ KQ>H$ {bhm.

¶) ZH$memMr A§Jo gm§Jm.

à.à.à.à.à.4) Imbrb n¡H$s H$moUVmhr 1 àý gmoS>dm. [1×10=10]

A) g§gmYZm§Mo dJuH$aU gm§JyZ ‘mZd{Z{‘©V g§gmYZo ¶m§Mr g{dñVa ‘m{hVr {bhm.

~) CÚmoJY§Úm§À¶m ñWmZ {Z{üVrda n[aUm‘ H$aUmao KQ>H$ ñnï> H$am.


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1) All questions are compulsory.
2) Figures to the right indicate full marks.
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SEAT No. :

Q1) Attempt any ten out of twelve from the following [10]
i) Which are the important military operations of the Indian Air force?

a) Operation Parakram & operation cactus and operation  meghdoot
b) Operation Safed sagar
c) Option (a) and (b)
d) None of these

ii) Reconstruction of the Indian Armed Forces since _____
a) 1947 b) 1946
c) 1948 d) 1950

iii) Full of CDS _____
a) Chief of Different Staff b) Chief of Defence staff
c) Chief of Divert staff d) All of the above

iv) After the _____India-china war, the line of Actual control was created.
a) 1960 b) 1961
c) 1962 d) 1963

v) Full form of AAD_____
a) Any Air Defence b) Army Air Defence
c) Another Air Defence d) None of the above

vi) Which one among the following is the unit raised to protect the naval
assets?
a) Sagar Nigrani Bal b) Sagar  Prahari Bal
c) Sagar Suraksha Bal d) Sagar Rakshak Bal

vii) On which of the following dates is the Navy Day celebrated in India?
a) 4 December b) 1 February
c) 8 October d) 15 January

viii) The Commodo unit of the Indian Air Force is named _____
a) Ghatak b) MARCOS
c) Garud d) Baaz

P.T.O.
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ix) Which of the following organizations has sarvatra sarvottam suraksha as
its slogan?
a) Indian Air force b) National security  force
c) Sikh Light Infantry d) Border security force

x) Indian Army’s counter insurgency school is situated in _____
a) Vairengte b) Terpur
c) Srinagar d) Kanker

xi) _____is a situation or Period of Lighting between countries or groups
of people.
a) War b) Quarrel
c) Both are wrong d) Both are correct

xii) Methods of Economic warfare _____
a) Economic Blockade b) Preclusive buying
c) Aerial bombing d) All of the above

Q2) Attempt any five out of seven from the following [25]
a) Briefly discuss the Indian armed fources
b) Write a short note on National Emergency.
c) What is LAC
d) Briefly describe the importance of the NCC.
e) State the four mission objectives of the intelligence community
f) What is a war?
g) State the objectives of economic diversification.

Q3) Attempt any five out of seven from the following [25]
a) Write briefly about the Indian Navy.
b) Write a short Note on the ministry of Defence (MOD)
c) Write a short Note on Planning of defence
d) Briefly explain the importance of the coast Guard.
e) List the role of intelligence agencies in a country.
f) State the aims of Psychological war.
g) What are Natural Calamities?

Q4) Attempt any one out of two from the following. [10]
a) Explain the Development of the Indian Air Force.
b) Explain in detail the importance of the make in India in the defence sector.

… … …
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[5952]-SODL-109
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DEFENCE ORGANIZATION AND MANAGEMENT IN INDIA
(2019 Pattern) (115D)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-4653

à.à.à.à.à.1) Imbrb 12 n¢H$s H$moUVohr 10 gmoS>dm. [10]

i) ^maVr¶ hdmB© XbmÀ¶m ‘hËdmÀ¶m bîH$ar Am°naoeÝg H$moUË¶m AmhoV?

A) Am°naoeZ namH«$‘ Am{U Am°naoeZ H°$³Q>g Am{U Am°naoeÝg ‘oKXyV

~) Am°naoeZ g’o$X gmJa

H$) n¶m©¶ (A) Am{U n¶m©¶ (~)

S>) ¶mn¢H$s EH$hr Zmhr

ii) ^maVr¶ geó Xbm§Mr ................. nmgwZMr nwZ©~m§YUr.

A) 1947 ~) 1946

H$) 1948 S>) 1950

iii) CDS Mo nyZ©én .....................

A) Chief of Different Staff ~) Chief of Defence staff

H$) Chief of Divert staff S>) darbn¢H$s gd©

iv) ^maV - MrZ ‘Yrb ............... À¶m ¶wX²YmZ§Va àË¶j {Z¶§ÌU aofm ApñVËdmV Ambr.

A) 1960 ~) 1961

H$) 1962 S>) 1963

v) AAD Mo nyZ©én ................

A) Any Air Defence ~) Army Air Defence

H$) Another Air Defence S>) darbn¢H$s H$mhr Zmhr
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vi) Zm¡XbmÀ¶m ‘mb‘ÎmoMo g§ajU H$aÊ¶mgmR>r Imbrbn¢H$s H$moUVo ¶w{ZQ> C^mabo Amho?

A) gmJa {ZJamUr ~b ~) gmJa àhar ~b

H$) gmJa gwajm ~b S>) gmJa ajH$ ~b
vii) Imbrbn¡H$s H$moUË¶m VmaIoobm ^maVmV Zm¡Xb {XZ gmOam Ho$bm OmVmo?

A) 4 {S>g|~a ~) 1 ’o$~«wdmar

H$) 8 Am°³Q>mo~a S>) 15 OmZodmar
viii) ^maVr¶ hdmB© XbmÀ¶m H$‘m§S>mo ¶w{ZQ>Mo Zmd ................. Amho.

A) KmVH$ ~) ‘mH$m}g

H$) JéS> S>) ~mO
ix) Imbrbn¢H$s H$moUË¶m g§ñWoMo Kmofdm³¶ gd©Îm gdm}Îm‘ gwajm Amho?

A) ^maVr¶ hdmB© Xb ~) amï´>r¶ gwajm ajH$

H$) erI bmB©Q> BÝ’§$Q´>r S>) gr‘m gwajm Xb
x) ^maVr¶ bîH$amMr ~§S>Imoar {damoYr emim .............. ¶oWo Amho.

A) d¡ao§JVo ~) VoOnya

H$) lrZJa S>) H§$Ho$a
xi) Amnë¶m BÀN>m Amnë¶m {damoYH$m§da gº$sZo bmXÊ¶mMr qhgH$ H¥$Vr åhUOo ............... hmo¶.

A) ¶wX²Y ~) ^m§S>U

H$) XmoÝhrhr MyH$ S>) XmoÝhrhr ~amo~a
xii) Am{W©H$ ¶wX²YV§ÌmÀ¶m nX²YVr

A) Am{W©H$ ZmH$m~§Xr ~) à{V~§YmË‘H$ IaooXr

H$) hdmB© ~m°å~’o$H$ S>) darb gd©

à.à.à.à.à.2) Imbrb 7 n¢H$s H$moUVohr 5 àíZ gmoS>dm. [25]

A) ^maVr¶ bîH$arXbm§~m~V WmoS>³¶mV gm§Jm.

~) amï´>r¶ AmUr~mUr{df¶r WmoS>³¶mV {bhm.

H$) Eb.E.gr. (LAC) åhUOo H$m¶?

S>) EZ.gr.gr. Mo ‘hËd WmoS>³¶mV gm§Jm.

B) Jwwáhoam§À¶m ‘mo{h‘m§Mr Mma C{Ôï²>¶oo gm§Jm.

’$) ¶wÜX åhUOo H$m¶?

¶) Am{W©H$ {dH|$[ÐH$aUmMo C{Ôï²>¶o gm§Jm.
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à.à.à.à.à.3) Imbrb 7 n¢H$s H$moUVohr 5 àíZ gmoS>dm. [25]

A) ^maVr¶ Zm¡Xbm{df¶r  WmoS>³¶mV {bhm.

~) g§ajU ‘§Ìmb¶m~m~V WmoS>³¶mV ‘m{hVr Xçm.

H$) g§ajUmMo {Z¶moOZ ¶mda {Q>n {bhm.

S>) H$moñQ> JmS>©Mo ‘hËd WmoS>³¶mV gm§Jm.

B) EImX²¶m XoemVrb JwáMa g§ñWm§À¶m H$m‘m§Mr ¶mXr gm§Jm.

’$) ‘mZ{gH$ ¶wX²YmVrb C{Ôï²>¶oo WmoS>³¶mV gm§Jm.

¶) Z¡g{J©H$ AmnÎmr H$moUË¶m àH$maÀ¶m AgVmV?

à.à.à.à.à.4) Imbrb 2 n¢H$s H$moUVohr 1 àíZ gmoS>dm. [10]

A) ^maVr¶ hdmB© XbmÀ¶m {dH$mgmMo narjU H$am.

~) g§ajU joÌmVrb ‘oH$ BZ B§{S>¶m H$m¶©H«$‘mMo ‘hËd {dñVmamZo ñnï> H$am.

… … …



Total No. of Questions : 4]

[5952]-SODL-110
F.Y.B.Com.

115E : THEORY AND PRACTICE OF CO-OPERATION
(2019 Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right  indicate full marks.

PA-4654 [Total No. of Pages : 6
SEAT No. :

Q1) Attempt any ten out of twelve from the following. [10]
i) An organization formed on the principle of equality by voluntary

association of individuals for advancement is _____
a) Partnership Firm b) Co-operative Society
c) One Person Company d) Joint Stock Company

ii) The full form of ICA is ______
a) Indian Co-operative Alliance
b) International Consumer Alliance
c) International Co-operative Alliance
d) Indian Consumer Alliance

iii) In_____year, the first Co-operative Society law formed in India.
a) 1950 b) 1947
c) 1904 d) 1948

iv) _______regulates the registration and other activities of a Co-operative
Society.
a) NABARD b) SBI
c) SEBI d) RCS

v) The word ‘Co-operation’ derived from ______language.
a) German b) Latin
c) Italian d) Greek

vi) The basic idea behind Co-operation is _____
a) Self-help and mutual help
b) Self-help
c) Mutual help
d) Each for all and all for each

P.T.O.
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vii) The objective of Co-operative Society is _____

a) Service b) Profit

c) Self-help d) Mutual help

viii) The entire means of production is owned and operated by individuals in
____

a) Co-operation b) Socialism

c) Capitalism d) Communism

ix) International Co-operative Alliance was founded by the International
Co-operative Congress held in _____

a) 1865 b) 1875

c) 1895 d) 1995

x) ‘One man one vote’ principle was recommended by _____Committee.

a) Gorwala b) Maclagan

c) Minto Morley d) Montague Chelmsford

xi) The member of a Co-operative Society have _____liability.

a) Limited b) Unlimited

c) Joint d) Joint and Several

xii) The Rules and Regulations of a Co-operative Society is formed in its
_____

a) Co-operative Act b) Co-operative Rules

c) Bylaws d) General Body

Q2) Attempt any five out of seven from the following [25]
a) State the benefits of Cooperative Organization.

b) Write in brief about the salient features of the Fedrick Nicholson Report.

c) Write a short note on the Contribution of cooperative leaders in India.

d) Explain the similarities between co-operation and capitalism.

e) Write a short note on ‘Co-operative Sugar Factories’.

f) Explain the objectives of Labour Co-operative Societies.

g) State the objectives of Audit.
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Q3) Attempt any five out of seven from the following. [25]
a) Explain the problems of cooperative sector?

b) What are the contributions of Dr. Verghese Kurien in dairy cooperatives
in India?

c) Write a short note on ‘Recommendations of the Gorwala Committee’.

d) State the characteristics of Communist Economy.

e) Write a short note on ‘Multi-Purpose Organization’

f) State the functions of Labour Co-operative Societies.

g) Write a short note on ‘Globalization’.

Q4) Attempt any one out of two from the following [10]
a) Explain the role of Central Government in Co-operative Movement.

b) Discuss the objectives of Co-operative Marketing.


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(‘amR>r ê$nm§Va)
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gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-4654

à.à.à.à.à.1) Imbrn¡H$s H$moUVohr 10 gmoS>dm. [10]
i) ì¶º$sÀ¶m ñdoÀN>oZo EH$Ì ¶oD$Z CÞVrgmR>r g‘mZVoÀ¶m VËdmda {Z‘m©U Ho$bobr g§KQ>Zm åhUOo

.......... hmo¶.

A) ^mJrXmar g§ñWm ~) ghH$mar g§ñWm

H$) EH$b ì¶mnmar g§ñWm S>) g§¶wº$ ^m§S>dbr g§ñWm

ii) Am¶grE (ICA) Mo nyU© ê$n ............ Amho.

A) B§{S>¶Z H$mo-Am°nao{Q>ìh Abm¶Ýg ~) B§Q>aZ°eZb H§$Á¶w‘a Abm¶Ýg

H$) B§Q>aZ°eZb H$mo-Am°nao{Q>ìh Abm¶Ýg S>) B§{S>¶Z H§$Á¶w‘a Abm¶Ýg

iii) .............. gmbr ^maVm‘Ü¶o ghH$mar g§ñWm H$m¶Xm ApñVËdmV Ambm.

A) 1950 ~) 1947
H$) 1904 S>) 1948

iv) ........... ho ghH$mar g§ñWoÀ¶m Zm|XUr d BVa H$m¶mªda {Z¶§ÌU R>odVo.

A) Zm~mS>© ~) Eg~rAm¶

H$) go~r S>) AmagrEg

v) ‘H$mo-Am°naoeZ’ hm eãX ................. ^mfo‘YyZ Ambm Amho.

A) O‘©Z ~) b°{Q>Z

H$) BQ>°{b¶Z S>) {J«H$

vi) ghH$mam‘mJrb ‘yi H$ënZm ............. Amho.

A) ñd¶§ ghmæ¶ d nañna ghmæ¶ ~) ñd¶§ ghmæ¶

H$) nañna ghmæ¶ S>) àË¶oH$ gdmªgmR>r Am{U gd© àË¶oH$mgmR>r
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vii) ghH$mar g§ñWoMo C{Ôï>²¶ ............. Amho.
A) godm ~) Z’$m

H$) ñd¶§ ghmæ¶ S>) nañna ghmæ¶

viii) ............... ‘Ü¶o CËnmXZmMr gd© gmYZo hr ì¶º$sÀ¶m ‘mbH$sMr AgVmV d Vmo ñdV… hmVmiV
AgVmo.

A) ghH$ma ~) g‘mOdmX

H$) ^m§S>dbdmX S>) gmå¶dmX

ix) Am§Vaam{ï´>¶ ghH$ma H$m±J«ogZo Am§Vaam{ï´>¶ ghH$ma ¶wVrMr ñWmnZm ............. ‘Ü¶o Ho$br.

A) 1865 ~) 1875

H$) 1895 S>) 1995

x) ‘EH$ ì¶º$s EH$ ‘V’ VËdmMr {e’$mag ............. g{‘VrZo Ho$br hmoVr.

A) Jmoadmbm ~) ‘°H$boJZ

H$) q‘Q>mo ‘m°b} S>) ‘m°ÝQ>oJ Moåg’$moS>©

xi) ghH$mar g§ñWoÀ¶m g^mgXm§Mr O~m~Xmar ............. AgVo.

A) ‘¶m©{XV ~) A‘¶m©{XV

H$) g§¶wº$ S>) g§¶wº$ Am{U AZoH$

xii) ghH$mar g§ñWoMo {Z¶‘ d AQ>r ¶m {VÀ¶m ............. ‘Ü¶o AgVmV.

A) ghH$ma H$m¶Xm ~) ghH$ma {Z¶‘

H$) Cn{Z¶‘ S>) gm‘mÝ¶ g§ñWm

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]

A) ghH$mar g§ñWoMo ’$m¶Xo gm§Jm.

~) ’o$S>[aH$ {ZH$mobgZ AhdmbmMr R>iH$ d¡{eï>²¶o WmoS>³¶mV {bhm.

H$) ‘^maVmVrb ghH$mar ZoË¶m§Mo ¶moJXmZ’ ¶mda {Q>n {bhm.

S>) ghH$ma Am{U ^m§S>dbemhr ‘Yrb gmå¶Vm ñnï> H$am.

B) ‘ghH$mar gmIa H$maImZo’ ¶mda {Q>n {bhm.

’$) H$m‘Jma ghH$mar g§ñWoMr C{Ôï>²¶o ñnï> H$am.

¶) A§Ho$jUmMr C{Ôï²>¶o gm§Jm.
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à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]

A) ghH$mar joÌmÀ¶m g‘ñ¶m ñnï> H$am.

~) ^maVmVrb S>oAar ghH$mar g§ñWm§‘Ü¶o S>m°. dJug Hw$[a¶Z ¶m§Mo ¶moJXmZ H$m¶ Amho?

H$) ‘Jmoadmbm g{‘VrÀ¶m {e’$maer’ ¶mda {Q>n {bhm.

S>) gmå¶dmXr AW©ì¶dñWoMr d¡{eï>²¶o gm§Jm.

B) ‘~hþCÔoer¶ g§ñWm’ ¶mda {Q>n {bhm.

’$) H$m‘Jma ghH$mar g§ñWoMr H$m¶} gm§Jm.

¶) ‘OmJ{VH$sH$aU’ ¶mda {Q>n {bhm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVmhr 1 àíZ gmoS>dm. [10]

A) ghH$mar Midir‘Ü¶o H|$Ð gaH$maMr ŷ{‘H$m ñnï> H$am.

~) ‘ghH$mar {dnUZmMr C{Ôï>²¶o’ ¶mda MMm© H$am.


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Q1) Attempt any ten out of twelve from the following. [10×1=10]

i) What is managerial economics?

ii) What is indifference Curve?

iii) What is demand forecasting?

iv) What is Supply?

v) What is variable cost?

vi) What is Marginal revenue?

vii) What is private company?

viii) What is a public enterprise?

ix) What is capital rationing?

x) What is fixed cost?

xi) What is demand?

xii) What is cross elasticity?

P.T.O.
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Q2) Attempt any five out of seven from the following. [5×5=25]

a) Explain scope of managerial.

b) Explain survey method of demand forecasting.

c) Explain characteristics of managerial economics.

d) Explain law of returns to scale.

e) What is profit management? Explain how profit is measuring.

f) Explain methods of capital budgeting.

g) Explain merits of MNCs.

Q3) Attempt any five out of seven from the following. [5×5=25]

a) Explain types of cost.

b) Explain concept of marginal cost pricing.

c) Explain nature of capital budgeting.

d) Explain components of pricing of the product.

e) Explain concept of utility.

f) Explain determinants of supply.

g) Explain concept of production function.

Q4) Attempt any one out of two from the following.     [1×10=10]

a) What is elasticity of demand? Explain types of elasticity of demand.

b) What is partnership? Explain merits and demerits of partnership.





3[5952]-SODL - 111

Total No. of Questions : 4]

[5952] - SODL - 111
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115F : MANAGERIAL ECONOMICS
(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmZ.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.

PA-4655

à.à.à.à.à.1) Imbrb ~mam n¡H$s H$moUVohr Xhm àíZ gmoS>dm. [10×1=10]

i) ì¶dñWmnH$s¶ AW©emó åhUOo H$m¶?

ii) g‘d¥Îmr dH«$ åhUOo H$m¶?

iii) ‘mJUr A§XmO åhUOo H$m¶?

iv) nwadR>m åhUOo H$m¶?

v) ~XbVm IM© åhUOo H$m¶?

vi) gr‘m§V àmár åhUOo H$m¶?

vii) ImOJr H§$nZr åhUOo H$m¶?

viii) gmd©O{ZH$ CnH«$‘ åhUOo H$m¶?

ix) ^m§S>db aoeqZJ åhUOo H$m¶?

x) pñWa IM© åhUOo H$m¶?

xi) ‘mJUr åhUOo H$m¶?

xii) N>oXH$ bd{MH$Vm åhUOo H$m¶?
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à.à.à.à.à.2) Imbrb gmV n¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×5=25]

A) ì¶dñWmnH$s¶ ì¶már ñnï> H$am.

~) ‘mJUr A§XmOmMr gd}jU nÕV ñnï> H$am.

H$) ì¶dñWmnH$s¶ AW©emómMr d¡{eï²>¶o ñnï> H$am.

S>) àË¶¶ ’$bmMm {Z¶‘ (naVmì¶mMm {Z¶‘) ñnï> H$am.

B) Z’$m ì¶dñWmnZ åhUOo H$m¶? Z’$m H$gm ‘moObm OmVmo Vo ñnï> H$am.

’$) ^m§S>dbr A§XmOmÀ¶m nÕVr ñnï> H$am.

¶) ~hþamï´>r¶ H§$nÝ¶m§Mo JwU ñnï> H$am.

à.à.à.à.à.3) Imbrb gmV n¡H$s H$moUVohr nmM àíZ gmoS>dm. [5×5=25]

A) IMm©Mo àH$ma ñnï> H$am.

~) {H$aH$moi {H$‘VrMr g§H$ënZm ñnï> H$am.

H$) ^m§S>dbr A§XmOmMo ñdê$n ñnï> H$am.

S>) CËnmXZmÀ¶m qH$‘VrMo KQ>H$ ñnï> H$am.

B) Cn¶moJrVoMr g§H$ënZm ñnï> H$am.

’$) nwadR²>¶mMo {ZYm©aH$ ñnï> H$am.

¶) CËnmXZ H$m¶m©Mr g§H$ënZm ñnï> H$am.

à.à.à.à.à.4) Imbrb XmoZ n¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [1×10=10]

A) ‘mJUrMr bd{MH$Vm åhUOo H$m¶? ‘mJUrÀ¶m bd{MH$VoMo àH$ma ñnï> H$am.

~) ^mJrXmar åhUOo H$m¶? ^mJrXmarMo JwU Am{U Xmof g‘OmdyZ gm§Jm.


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Q1) Attempt any ten [10]
i) This is a protocol which allows files to be transferred from one computer

to anothercomputer
a) tcp/ip b) ftp
c) http d) none of these

ii) Which among the following is not an example for Search engine?
a) google b) msn
c) alta vista d) none of these

iii) Monster. com is an example of ____website
a) c2c b) b2e
c) b2b d) b2c

iv) ______is the first page of a web site.
a) web page b) home page
c) domain d) none of these

v) What is the process of making a copy of the information stored on a
computer?
a) backup b) anti-virus
c) firewall d) biometrics

vi) Which segment do eBay, Amazon.com belong?
a) b2b b) b2c
c) c2b d) c2c

vii) Which will not harm computer resources
a) firewall b) virus
c) trojan horse d) none of the above

viii) The concept of online marketing and selling of products and services
through the internet is ______
a) B2G b) B2C
c) B2B d) B2E

P.T.O.
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ix) _____is an early form of E-commerce
a) SCM b) EDI
c) Both of these d) Neither of these

x) Which of the following is not related to security mechanism
a) encryption b) decryption
c) e-cash d) all the above

xi) Which type of add appears on a web page?
a) pop-under ad b) pop-up ad
c) banner ad d) discount ad

xii) What automates business processes?
a) Workflow b) asp
c) workflow system d) eip

Q2) Attempt Any Five [25]
a) What are the advantages and disadvantages of a Smart Card?
b) Explain the different steps involved in the development of an e-commerce

web site.
c) What is E-commerce? Explain the role of e-commerce in business

economy.
d) Explain Digital signature.
e) Explain popular Internet Browsers.
f) Explain the concept of “Business Content” in SAP Business Information

warehouse.
g) What is E-Shopping? What are the advantages and disadvantages of

eshopping?

Q3) Attempt any five [25]
a) What are the advantages of e-commerce to consumers?
b) Explain various applications of mobile commerce.
c) Explain various types of Electronic payment system.
d) How smart cards are classified? Explain.
e) What is merchant account? list the advantages of using e cash.
f) What are the security issues of E-commerce?
g) What is Supply chain Management? Why is it important in e-business

environment?

Q4) Attempt any one [10]
a) Describe in detail various e-commerce models.
b) Explain advantages and disadvantages of Internet.


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Q1) Attempt any Ten out of Twelve from the following [10]

i) How many insurance companies were merged to form the Life Insurance
Corporation of India?

ii) Which insurance is not covered under ‘Indemnity Agreement’?

iii) If a person has insured his property with two insurance companies, which
principle applies in case of fire insurance?

iv) How many vessels are covered in a single vessel policy?

v) What can be described as a social device to reduce or eliminate the
possibility of loss of life and property?

vi) What is the name of the life insurance company operating in India?

vii) Who is responsible for the State highways and major district roads?

viii) When was Indian Railways Nationalized?

ix) Which transport is one of the cheapest modes of transport?

x) Which Indian state has the longest coastline?

xi) What benefits does tourism bring to our country?

xii) When was Air Cargo Carriers established?

P.T.O.
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Q2) Attempt any five out of Seven from the following [25]
a) What are the employment opportunities in the insurance sector?

b) Explain in detail about Whole Life Insurance.

c) State the elements included in Fire Insurance

d) State the scope of marine insurance.

e) What are the different advantages of transport?

f) What is Metrorail?

g) What is coastal shipping?

Q3) Attempt any five out of Seven from the following [25]
a) State the scope of insurance.

b) Which type of fire is not considered as a fire in Fire Insurance?

c) State the importance of Life insurance for businessmen.

d) Explain different risks in Marine Transport.

e) Explain in detail the importance of road transport in domestic trade.

f) Why we use water transport in international trade?

g) Why we have to use air transport in transport of costly things?

Q4) Attempt any one out of two from the following     [10]
a) Explain the various principles of insurance in detail.

b) State the progress of road transport in India since 1951.


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(2019 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© Amho.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-4657

à.à.à.à.à.1) Imbrb ~mam n¡H$s H$moUVohr Xhm gmoS>dm. [10]

i) ^maVr¶ OrdZ {d‘m ‘hm‘§S>i ñWmnÊ¶mgmR>r {H$Vr {d‘m H§$nÝ¶m§Mo {dbrZrH$aU H$aÊ¶mV Ambo?

ii) "ZwH$gmZ ^anmB© H$amam' A§VJ©V H$moUVm {d‘m g‘m{dï> Zmhr?

iii) Oa EImÚm ì¶º$sZo XmoZ {d‘m H§$nÝ¶m§gh Ë¶mÀ¶m ‘mb‘ÎmoMm {d‘m H$mT>bm Agob Va AmJ
bmJb²¶mg H$moUVo VËd bmJy hmoVo?

iv) qgJb dogb nm°{bgr‘Ü¶o {H$Vr OhmOm§Mm g‘mdoe AgVmo?

v) Ord Am{U ‘mb‘ÎmoMo ZwH$gmZ hmoÊ¶mMr e³¶Vm H$‘r H$aÊ¶mgmR>r qH$dm Zï> H$aÊ¶mgmR>r gm‘m{OH$
gmYZ åhUyZ H$m¶ dU©Z Ho$bo OmD$ eH$Vo?

vi) ^maVmV H$m¶©aV Agbob²¶m OrdZ {d‘m H§$nZrMo Zmd H$m¶ Amho?

vii) amÁ¶ ‘hm‘mJ© d à‘wI {Ob²hm añVo ¶mgmR>r H$moU O~m~Xma Amho?

viii) ^maVr¶ aob²doMo amï´>r¶H$aU H|$ìhm Pmbo?

ix) H$moUVr dmhVyH$ hr dmhVwH$sÀ¶m gdm©V ñdñV nÕVtn¡H$s EH$ Amho?

x) ^maVmVrb H$moUË¶m amÁ¶mV gdm©V bm§~ {H$ZmanÅ>r Amho?

xi) n¶©Q>Zm‘wio Amnb²¶m Xoemg H$moUVm bm^ hmoVmo?

xii) EAa H$mJm} H°$[a¶g©Mr ñWmnZm H$Yr Pmbr?
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à.à.à.à.à.2) Imbrb gmV n¡H$s H$moUVohr nmM gmoS>dm. [25]

A) {d‘m joÌmV amoOJmamÀ¶m H$moUË¶m g§Yr AmhoV?

~) AmOrdZ OrdZ {då¶m~Ôb Vnerbdma ‘m{hVr Úm.

H$) A¾r {då¶m‘Ü¶o g‘m{dï> Agbobo KQ>H$ gm§Jm.

S>) gmJar {då¶mMr ì¶már gm§Jm.

B) dmhVwH$sMo doJdoJio ’$m¶Xo H$m¶ AmhoV?

’$) ‘oQ´>moaob åhUOo H$m¶?

¶) g‘wÐ {H$Zmè¶mdarb dmhVyH$ åhUOo H$m¶?

à.à.à.à.à.3) Imbrb gmV n¡H$s H$moUVohr nmM gmoS>dm. [25]

A) {då¶mMr ì¶már gm§Jm.

~) A¾r {då¶m‘Ü¶o H$moUË¶m àH$maMr AmJ hr AmJ ‘mZbr OmV Zmhr?

H$) ì¶mdgm{¶H$m§gmR>r OrdZ {då¶mMo ‘hÎd gm§Jm.

S>) gmJar dmhVwH$sVrb {d{dY YmoHo$ ñnï> H$am.

B) Xoem§VJ©V ì¶mnmamV añVo dmhVwH$sMo ‘hÎd Vnerbdma gm§Jm.

’$) Am§Vaamï´>r¶ ì¶mnmamV AmnU ObdmhVyH$ H$m dmnaVmo?

¶) ‘hmJS>çm dñVy§À¶m dmhVwH$sgmR>r hdmB© dmhVyH$ H$m H$amdr bmJVo?

à.à.à.à.à.4) Imbrb XmoZ n¡H$s H$moUVohr EH$ gmoS>dm. [10]

A) {då¶mMr {d{dY VÎdo Vnerbdma gm§Jm.

~) 1951 nmgyZ ^maVmVrb añVo dmhVwH$sMr àJVr gm§Jm.


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Q1) Attempt any ten. [10]
i) Marketing is a process which aims at _____

a) Production
b) Profit making
c) The satisfaction of customer needs
d) Selling products

ii) Factors are the most popular bases for segmenting customer groups
_____
a) Geography b) Demographic
c) Psychographic d) Behavioral

iii) Marketing mix for services includes ______
a) 4 ps b) 7 Ps
c) 8 Ps d) 5 ps

iv) What does the term PLC stands for_____
a) product life cycle b) production life control
c) product long cycle d) production long cycle

v) Place in marketing is also known as ______
a) Physical distribution b) Channel of distribution
c) Intermediary d) All of above

vi) _____are the key elements of promotion mix
a) Advertising and sales promotion
b) Publicity and public relations
c) Direct marketing and personal selling
d) All of the above

vii) A feature of rural marketing is the large and  _____market
a) Attractive b) Neat
c) Limited d) Scattered

viii) Green marketing is part of ______
a) Re-marketing b) Event marketing
c) Social marketing d) Mega marketing

P.T.O.
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ix) During which steps of the marketing segmentation targeting and positioning
process does the firm develop a marketing mix for each segment.
a) Market segmentation
b) Market targeting
c) Market Positioning
d) The firm does not go through the development during any of the

above steps.
x) Which of the following is incorrect about digital marketing

a) Digital marketing requires electronic device for promoting goods
and services

b) Digital marketing can be done online
c) Digital marketing can be done offline
d) Digital marketing can be understood as online marketing, web

marketing and e-mail marketing.
xi) The strategy adopted by retailer and wholesalers for creating their private

brand is called is ______
a) Store brand b) Mega brand
c) Brand extension d) Co brand

xii) Marketing is a process that create communicates and Delivers_____
a) Services to customers b) Products to customers
c) Value to customer d) Benefits to customers

Q2) attempt any five [25]
a) Write short note on macro and micro segmentations.
b) How do you define product mix and price mix.
c) Mention the limitations of marketing segmentation.
d) Write a short note on the pricing procedure.
e) What are the types of distribution channel?
f) How is the price of commodity determined in the market.
g) Discuss the public relations.

Q3) attempt any five [25]
a) Explain the elements of psychology of a sales person.
b) Define the concept of rural marketing.
c) Discuss the process of selling.
d) What are blogs?
e) Define niche marketing.
f) Explain the concept of E-marketing.
g) Explain the importance of rural marketing.

Q4) attempt any one [10]
a) Define the term market, Explain classification of market.
b) Define the term salesmanship, explain the scope of salesmanship.

eeee
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(‘amR>r ê$nm§Va)
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gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-4658

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr 10 gmoS>dm. [10]

i) {dnUZ {h EH$ àH«$s¶m Amho Á¶mMm CX²Xoe .......... Amho.

A) CËnmXZ ~) Z’$m {‘idUo

H$) J«mhH$m§À¶m JaOm nwU© H$aUo S>) CËnmXZo {dH$Uo

ii) .......... KQ>H$ ho J«mhH$m§À¶m JQ>m§Mo {d^mOZ H$aÊ¶mgmR>r gdm©V bmoH$[à¶ AmYma AmhoV.

A) ^m¡JmobrH$ ~) bmoH$g§»¶m emór¶

H$) ‘mZgemór¶ S>) dV©UyH$/dV©ZmË‘H$

iii) {dnUZ {‘lUm ‘Ü¶o ......... godm g‘m{dï> AmhoV.

A) 4 Ps ~) 7 Ps

H$) 8 Ps S>) 5 Ps

iv) nr.Eb.gr Mo nwU© ê$n .........

A) àmoS>³Q>> bmB©’$ gm¶H$b ~) àmoS>³eZ bmB©’$ H§$Q´>mob

H$) àmoS>³Q> bm±J gm¶H$b S>) àmoS>³eZ> bm±J gm¶H$b

v) {dnUZm‘Yrb ñWmZ ho ........ åhUwZ XoIrb AmoiIbo OmVo.

A) ^mm¡{VH$ {dVaU ~) {dVaU gmIir

H$) ‘Ü¶ñVr S>) d[ab n¡H$s gd©

vi) .......... ho {dH«$¶ d¥Õr{‘lMo KQ>H$ åhUwZ AmoiIbo OmVo.

A) Om{hamV Am{U {dH«$s àmoËgmhZ ~) à{gÕr Am{U OZg§nH©$

H$) WoQ> {dnUZ Am{U d¡¶º$sH$ {dH«$s S>) d[ab n¡H$s gd©
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vii) J«m‘rU {dnUZmMo d¡{eï>²¶ åhUOo ‘moR>r Am{U.........~mOmanoR> hmo¶.
A) AmH$f©H$ ~) ì¶dñWrV

H$) ‘¶©mXrV S>) {dIwabobr

viii) h[aV {dnUZ hm .......... Mm EH$ ^mJ Amho.

A) nwZ©{dnUZ ~) H$m¶©H«$‘ {dnUZ

H$) gm‘m[OH$ {dnUZ S>) {dñV¥V {dnUZ

ix) ~mOmanoR> {d^mJrH$aU Ë¶mÀ¶m Yoæ¶mÀ¶m Am{U ñWmZmÀ¶m H$moUË¶m àH«$s¶oÀ¶m Q>ß¶m Xaå¶mZ
àË¶oH$ g§KQ>Z {d^mOZmgmR>r......... {dnUZ {‘l {dH${gV H$aVo.

A) {dnUZ {d^mJrH$aU

~) ~mOmanoR> b{jH$aU

H$) {dnUZ pñWVr

S>) g§KQ>Zm d[abn¡H$s H$moUË¶mhr Q>ß¶mda {dH$mg H$aV Zmhr

x) Imbrb n¡H$s ......... ho {S>{OQ>b {dnUZm~Ôb MwHo$Mo Amho.

A) dñVw Am{U godm§À¶m àMmamgmR>r B©bo³Q´>m{ZH$ CnH$aUm§Mr Amdí¶H$Vm AgVo.

~) {S>{OQ>b {dnUZ ho Am°ZbmB©Z hmoVo

H$) {S>{OQ>b {dnUZ ho Am°’$bmB©Z H$aVm ¶oVo

S>) {S>{OQ>b {dnUZ ho Am°ZbmB©Z  {dnUZ do~  {dnUZ Am{U B©-‘ob  {dnUZ g‘Obo OmVo.

xi) {H$aH$moi {dH«o$Vo Am{U KmD$H$ {dH«o$Ë¶m§Zr Ë¶mMo ImOJr ~«±S> V¶ma H$aÊ¶mgmR>r Adb§~boë¶m
YmoaUmbm........ åhUVmV.

A) XþH$mZmVrb ~«±S> ~) ‘oJm ~«±S>

H$) ~«±S> {dñVma S>) gh ~«±S>

xii) ........ {dnUZ {h EH$ àmW[‘H$ àH«$s¶m Amho {O g§àofU V¶ma H$aVo Am{U {dV[aV H$aVo.

A) J«mhH$ godm ~) J«mhH$m§gmR>r CËnmXZ

H$) J«mhH$ ‘wë¶ S>) J«mhH$m§Mm ’$m¶Xm

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]

A) ~mOmanoR> {d^mJUr [gwú‘ d ñWwb]>{Q>n {bhm.

~) CËnmXZ {‘l Am{U qH$‘V {‘l g§H$ënZm ñnï> H$am.

H$) ~mOmanoR> {d^mJrH$aUmÀ¶m ‘¶©mXm ñnï> H$am.
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S>) {Q>n {bhm-qH$‘V R>a{dÊ¶mÀ¶m nÕVr.

B) {dVaU gmIirMo àH$ma ñnï> H$am.

’$) {dnUZm‘Ü¶o dñVw§Mr qH$‘V H$er R>a[dbr OmVo Vo ñnï> H$am.

¶) OZg§nH©$: MMm© H$am?

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]

A) {dH«$¶ H$boÀ¶m ‘mZgemómMo KQ>H$ ñnï> H$am.

~) J«m‘rU {dnUZmMr g§H$ënZm {dfX H$am.

H$) MMm© H$am - {dH«$s àH«$s¶m.

S>) ãbm°J åhUOo H$m¶?

B) H$moZmS>m {dnUZ {dfX H$am.

’$) B©-{dnUZ g§H$ënZm ñnï> H$am.

¶) J«m‘rU {dnUZmMo ‘hÎd ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVmhr 1 àíZ gmoS>dm. [10]

A) ~mOmanoR> ì¶m»¶m gm§JwZ, ~mOmanoR>m§Mo dJuH$aU g{dñVa {bhm.

~) {dH«$¶ H$bm AW© d ì¶m»¶m gm§JwZ, {dH«$¶ H$boMr ì¶már ñnï> H$am.

eeee
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Q1) Attempt any ten. [10]
i) When did the consumer protection act come into force?

a) 1st April 2019 b) 1st March 2020
c) 1st May 2019 d) 20th July 2020

ii) A chemist sold you a medicine of expiry date, under which consumer
right you can approach the consumer court?
a) Right of Safety b) Right to Seek Redressal
c) Right to Education d) Right to Equality

iii) Rights of consumer are protected under Consumer Protection Act______
a) 1986 b) 1990
c) 1982 d) 1991

iv) Which of the following are the ways and means of consumer protection?
a) Self-regulation by the business
b) Business associations
c) Government
d) All of the above

v) Why do we need to have set rules and regulations for consumer rights?
a) To protect and promote the interest of the consumers against unethical

and unfair trade practices
b) To bring discipline in the country
c) To provide police protection to consumers during a dispute with

the sellers
d) To make all the sellers fair and honest

vi) Consumer Protection Act is significant to _______
a) Immovable Goods
b) Movable Goods
c) Particular Goods and Services
d) All Goods and Services

P.T.O.
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vii) Which type of E-Commerce is payment Gateway?
a) B2B b) B2C
c) G2C d) G2B

viii) E-Commerce may be carried out by using______modes.
a) SMS/phone conversation
b) Web
c) Email
d) All of them

ix) E-Commerce platforms like Snapdeal, Flipkart, Shop clues, etc. have
____scope of business.
a) National b) Local
c) Global d) None of these

x) The E-Commerce platform should provide facility to transaction for
_____electronic payment.
a) Unprotected b) Secure
c) Unsafe d) Uncontrolled

xi) The delivery for the buyer of E-Commerce platform____thus resulting
in dissatisfaction to the buyer.
a) Might not reach on promised date
b) May reach as per schedule
c) May reach in good condition
d) May arrive earlier than promised date

xii) Expansion of ECS ______.
a) Electronic Conversion Systems
b) Electronic Centred System
c) Electronic Cross Systems
d) Electronic Clearing System

Q2) Attempt any Five from the following. [25]
a) Write note on - Consumer movement in India.
b) Write note on - Standardization.
c) Write note on - Consumer education in India.
d) Write note on - Role of NGOs and Consumer organizations in India.
e) What are the advantages of e-commerce to organization?
f) Explain the need of business ethics.
g) What are the types of ethics?
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Q3) Attempt any Five from the following [25]
a) What are the problems faced by consumers in India?

b) How can consumer protection be enhanced in India?

c) What are the responsibilities of the consumer?

d) What are the skills that are considered essential for a career in consumer
studies filed?

e) What are the objectives of the Consumer Protection Act?

f) Why was the Consumer Protection Act, 1986 amended?

g) What are the reasons behind the rise of consumerism in India?

Q4) Attempt any one from the following. [10]
a) Explain the important objectives and strength of equator principles.

b) Explain the need for and importance of Consumer Protection.


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PA-4659

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr Xhm àíZ gmoS>dm. [10]

i) J«mhH$ g§ajU H$m¶Xm H|$ìhm bmJy Pmbm?

A) 1 E{àb 2019 ~) 1 ‘mM© 2020

H$) 1 ‘o 2019 S>) 20 Owb¡ 2020

ii) EH$m$ Ho${‘ñQ>Zo Vwåhmbm E³gnm¶ar S>oQ>Mo Am¡fY {dH$bo Va Imbrbn¡H$s H$moUË¶m J«mhH$
h³H$mImbr Vwåhr J«mhH$ Ý¶m¶mb¶mV OmD$ eH$Vm?

A) gwa{jVVoMm A{YH$ma ~) {ZdmaU {‘i{dÊ¶mMm A{YH$ma

H$) {ejUmMm A{YH$ma S>) g‘mZVoMm A{YH$ma

iii) J«mhH$ g§ajU H$m¶Xm ................ A§VJ©V J«mhH$m§Mo h³H$ g§a{jV AmhoV.

A) 1986 ~) 1990

H$) 1982 S>) 1991

iv) J«mhH$ g§ajUmMo Imbrbn¡H$s H$moUVo ‘mJ© Am{U ‘mÜ¶‘ AmhoV?

A) ì¶dgm¶mX²dmao ñd¶§-{Z¶‘Z ~) ì¶mdgm{¶H$ g§KQ>Zm

H$) emgZ S>) darb gd©

v) J«mhH$ h³H$m§gmR>r Amnë¶mbm {Z¶‘ Am{U H$m¶Xo H$m R>admdo bmJVmV?

A) AZ¡{VH$ Am{U AZw{MV ì¶mnma nX²YVtnmgyZ J«mhH$m§À¶m {hVmMo g§ajU H$aUo.

~) XoemV {eñV AmUUo.

H$) {dH«o$Ë¶m§er dmX AgVmZm J«mhH$m§Zm nmo{bg g§ajU XoUo.

S>) gd© {dH«o$Vo {Zînj Am{U àm‘m{UH$ ~ZdUo.
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vi) J«mhH$ g§ajU H$m¶Xm ............... gmR>r ‘hÎdnyU© Amho.

A) ñWmda dñVy ~) O§J‘ dñVy

H$) {deof dñVy Am{U godm S>) gd© dñVy Am{U godm

vii) no‘|Q> JoQ>do H$moUË¶m àH$maMm B©-H$m°‘g© Amho?

A) B2B ~) B2C
H$) G2C S>) G2B

viii) ............... ‘moS> dmnê$Z B©-H$m°‘g© Ho$bo OmD$ eH$Vo.

A) SMS/’$moZ g§̂ mfU ~) do~

H$) B©‘ob S>) Vo gd©

ix) ñZ°nS>rb, pâbnH$mQ>©, em°n ³by B. gma»¶m B©-H$m°‘g© ßb°Q>’$m°‘©da ì¶dgm¶mMr ì¶már ...........
Amho.

A) amï´>r¶ ~) ñWm{ZH$

H$) OmJ{VH$ S>) ¶mn¡H$s Zmhr

x) B©-H$m°‘g© ßb°Q>’$m°‘©Zo ............. Bbo³Q´>m°{ZH$ no‘|Q>gmR>r ì¶dhmamMr gw{dYm àXmZ Ho$br nm{hOo.

A) Agwa{jV ~) gwa{jV

H$) Agwa{jV S>) A{Z¶§{ÌV

xi) B©-H$m°‘g© ßb°Q>’$m°‘©À¶m IaoXrXmamgmR>r O|ìhm {S>{bìhar ................ V|ìhm IaoXrXmam‘Ü¶o Ag§Vmof
{Z‘m©U hmoVmo.

A) dMZ {Xboë¶m VmaIobm nmohmoMy eH$V Zmhr

~) doimnÌH$mZwgma nmohmoMy eH$Vo

H$) Mm§Jë¶m pñWVrV nmohmoMy eH$Vo

S>) dMZ {Xboë¶m VmaIonojm bdH$a nmohmoMy eH$Vo

xii) ECS Mm {dñVma ...............

A) Bbo³Q´>m°{ZH$ ê$nm§VaU àUmbr ~) Bbo³Q´>m°{ZH$ H|${ÐV àUmbr

H$) Bbo³Q´>m°{ZH$ H«$m°g {gñQ>åg S>) Bbo³Q´>m°{ZH$ p³bA[a¨J {gñQ>‘

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr nmM àíZm§Mr CÎmao {bhm. [25]
A) ^maVmVrb J«mhH$ Midi ¶mda Q>rn {bhm.

~) Q>rn {bhm-‘mZH$sH$aU

H$) ^maVmVrb J«mhH$ {ejU ¶mda Q>rn {bhm.

S>) ^maVmVrb ñd¶§godr g§ñWm Am{U J«mhH$ g§ñWm§Mr ŷ{‘H$m ¶mda Q>rn {bhm.
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B) g§ñWobm B©-H$m°‘g©Mo H$m¶ ’$m¶Xo AmhoV?

’$) ì¶mdgm{¶H$ Z¡{VH$VoMr JaO ñnï> H$am.

¶) Z¡{VH$VoMo àH$ma H$moUVo AmhoV?

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr nmM àíZm§Mr CÎmao {bhm. [25]

A) ^maVmVrb J«mhH$m§Zm H$moUË¶m g‘ñ¶m ôS>gmdV AmhoV?

~) ^maVmV J«mhH$ g§ajU H$go dmT>dVm ¶oB©b?

H$) J«mhH$m§À¶m O~m~Xmè¶m H$m¶ AmhoV?

S>) J«mhH$ Aä¶mgm‘Ü¶o H$[aAagmR>r Amdí¶H$ ‘mZbr OmUmar H$m¡eë¶o H$moUVr AmhoV?

B) J«mhH$ g§ajU H$m¶X²¶mMr CX²{Xï>o H$m¶ AmhoV?

’$) J«mhH$ g§ajU H$m¶Xm, 1986 ‘Ü¶o gwYmaUm H$m H$aÊ¶mV Ambr?

¶) ^maVmV Cn^moJdmXmÀ¶m CX¶m‘mJo H$moUVr H$maUo AmhoV?

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$ àíZmMo CÎma {bhm. [10]

A) {dfwdd¥Îm VÎdm§Mr ‘hÎdmMr CX²{Xï>o Am{U VmH$X (eº$s) ñnï> H$am.

~) J«mhH$ g§ajUmMr JaO Am{U ‘hÎd ñnï> H$am.


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Q1) Attempt any ten out of twelve from the following. [10]
i) Factors in the business environment over which a business has control

are called _____
a) Internal Factors b) External Factors
c) Both d) None of the above

ii) The physical environment of a business consists of a _____and man-
made components.
a) Natural b) Material
c) Environmental d) Physical

iii) When considering business, business responsibilities of _____have to
be considered.
a) Politicians b) Society
c) Administration d) Government

iv) _____is the cause of Pollution.
a) Industrialization b) Population
c) Deforestation d) All of the above

v) ______energy is generated through crops like maize and soybean.
a) Solar Energy b) Wind Energy
c) Bio Energy d) Thermal Energy

vi) During monsoon, river water is ____polluted.
a) More b) Less
c) Medium d) None of the above

vii) _______is the element of Entrepreneurial behaviour?
a) Profit-orientation b) Resourcefulness
c) Calculated risk d) All of the above

P.T.O.
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viii) The word “entrepreneur” comes from the _____
a) French b) Latin
c) English d) Spanish

ix) Successful entrepreneurs are very careful with _____management.
a) Money b) A poor person
c) Bankruptcy d) All of the above

x) Entrepreneurship is a  ______concept.
a) Economical b) Social
c) Political d) None of the above

xi) ______is a process run by entrepreneur.
a) Business
b) Entrepreneurship
c) Job
d) All of the above

xii) _____is the full form of S in SWOT.
a) Strong b) Smart
c) Strength d) Sincere

Q2) Attempt any Five out of seven from the following. [25]
a) State the features of Business Environment.
b) State the causes of Sound Pollution.
c) State the effects of regional disequilibrium.
d) State the importance of Internal Entrepreneurship.
e) State the factors that make up personality.
f) Explain the nature of Entrepreneurship
g) Write the functions of Dristrict Industry Center.

Q3) Attempt any five out of seven from the following. [25]
a) What is meant by External Environment?
b) State the measures of Sound Pollution.
c) State the measures of regional disequilibrium.
d) Write note – Maharashtra Entrepreneurship Development Center
e) State the need of Entrepreneurship.
f) State the habits of Entrepreneur.
g) State the features of Entrepreneur.

Q4) Attempt any one out of two from the following. [10]
a) State the types of Business Environment.
b) State the Abraham H. Maslow’s Hierarchy of needs.


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gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-4660

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr 10 àíZ gmoS>dm. [10]
i) ì¶mdgm{¶H$ n¶m©daUmVrb Á¶m KQ>H$m§da ì¶dgm¶mMo {Z¶§ÌU AgVo, Ë¶m KQ>H$m§Zm .............

Ago åhUVmV.
A) A§VJ©V KQ>H$ ~) ~mø KQ>H$
H$) XmoÝhr S>) darbn¡H$s Zmhr

ii) ì¶dgm¶mÀ¶m ̂ m¡{VH$ dmVmdaUm‘Ü¶o ................... Am{U ‘mZd{Z{‘©V KQ>H$ AgVmV.
A) Z¡g{J©H$ ~) gm{hË¶
H$) n¶m©daUr¶ S>) emar[aH$

iii) ì¶dgm¶mMm {dMma H$aVm ................... À¶m ì¶dgm¶ {df¶H$ O~m~Xm-¶m {dMmamV ¿¶mì¶m
bmJVmV.
A) amOH$maÊ¶m§À¶m ~) g‘mOmÀ¶m
H$) àemgZmÀ¶m S>) emgZmÀ¶m

iv) ................... ho àXÿfUmMo H$maU Amho.
A) Am¡Úmo{JH$sH$aU ~) bmoH$g§»¶m
H$) O§JbVmoS> S>) darb gd©

v) ‘H$m Am{U gmo¶m{~Z ¶mgma»¶m {nH$m§À¶m ‘mÜ¶‘mVyZ .................. D$Om© {Z‘m©U Ho$br OmVo.
A) gm¡a ~) ndZ
H$) O¡d S>) Am¡pîUH$

vi) nmdgmù¶mV ZXrMo nmUr .................. àXÿ{fV hmoVo.
A) OmñV ~) H$‘r
H$) ‘Ü¶‘ S>) darbn¡H$s Zmhr

vii) CÚmoOH$s¶ dV©ZmMm KQ>H$ ............ Amho.
A) Z’$m A{^‘wIVm ~) gmYZ g§nÎmr
H$) J{UVr¶ OmoIr‘ S>) darb gd©

viii) CÚmoOH$ hm eãX ............. ‘YyZ Ambm Amho.
A) ’«|$M ~) b°{Q>Z
H$) B§J«Or S>) ñn°{Ze
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ix) ¶eñdr CÚmoOH$ ................ ì¶dñWmnZmV Iyn gmdY AgVmV.
A) n¡emÀ¶m ~) Jar~ ì¶º$sÀ¶m
H$) {XdmiImoarÀ¶m S>) darb gd©

x) CÚmoOH$Vm hr EH$ ................ g§H$ënZm Amho.
A) AW©emór¶ ~) gm‘m{OH$
H$) amO{H$¶ S>) darbn¡H$s Zmhr

xi) ................ hr CÚmoOH$mZo Mmb{dbobr à{H«$¶m Amho.
A) ì¶dgm¶ ~) CÚmoOH$Vm
H$) ZmoH$ar S>) darb gd©

xii) Eg.S>ãë¶y.Amo.Q>r. ¶mVrb Eg Mo nyU© ê$n ............... Amho.
A) ñQ´>m±J ~) ñ‘mQ>©
H$) ñQ́>|W S>) {gpÝgAa

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]
A) ì¶mdgm{¶H$ n¶m©daUmMr d¡{eîQ>ço gm§Jm.
~) ÜdZr àXÿfUmMr H$maUo gm§Jm.
H$) àmXo{eH$ Ag‘VmobmMo n[aUm‘ gm§Jm.
S>) A§VJ©V CÚmoOH$VoMo ‘hËd gm§Jm.
B) ì¶{º$‘Ëd KS>{dUmao KQ>H$ gm§Jm.
’$) CÚmoOH$VoMo  ñdê$n ñnï> H$am.
¶) {Oëhm CÚmoJ H|$ÐmMr H$m¶} {bhm.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]
A) ~mø n¶m©daU åhUOo H$m¶?
~) ÜdZr àXÿfUmÀ¶m Cnm¶¶moOZm gm§Jm.
H$) àmXo{eH$ Ag‘Vmob H$‘r H$aÊ¶mgmR>rMo Cnm¶ gm§Jm.
S>) {Q>n {bhm - ‘hmamï´> CÚmoOH$Vm {dH$mg H|$Ð.
B) CÚmoOH$VoMr JaO gm§Jm.
’$) CÚmoOH$VoMr gd¶r gm§Jm.
¶) CÚmoOH$mMr d¡{eï>¶o gm§Jm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVmhr 1 àíZ gmoS>dm. [10]
A) ì¶mdgm{¶H$ n¶m©daUmMo àH$ma gm§Jm.
~) A~«mh‘ EM. ‘°ñbmo ¶m§Mm JaOm§À¶m loUrMm {gÕm§V gm§Jm.





Total No. of Questions : 4]

[5952]-SODL-117
F.Y.B.Com.

116F : FOUNDATION COURSE IN COMMERCE
(2019 Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right  indicate full marks.

PA-4661 [Total No. of Pages : 4
SEAT No. :

Q1) Attempt any ten out of twelve from the following [10]
i) Joint Venture means permanent _______.

a) Partnership b) Co-operative Society
c) Sole Proprietor d) None of the above

ii) _______is given at the time of every transaction on the registered mobile
number.
a) OTP b) OMR
c) PPB d) MCR

iii) The word Logistics is derived from the _____language.
a) French b) German
c) Latin d) Greek

iv) _____is achieved through Email.
a) Planning b) Organising
c) Co-ordination d) Management

v) E-Commerce is a very ____Process.
a) Dynamic b) Slow
c) Continuous d) None of the above

vi) Transactions between customers and customers come under _____
a) B2B b) C2C
c) B2C d) C2A

vii) An Organization is a group of _____Individuals.
a) Two b) Five
c) Ten d) Many

viii) Balancing resources is the _____function of an organization.
a) Less important b) Fundamental
c) Secondary d) None of the above

P.T.O.
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ix) The types of business organization are private sector and _____
a) Trade Sector b) Industry Sector
c) Public Sector d) Business Sector

x) The liability of Sole Proprietorship is______
a) Limited b) Unlimited
c) Minimum d) None of the above

xi) Partnership business is governed by Partnership Act ______
a) 1932 b) 1956
c) 1992 d) 2013

xii) The Limited Liability Partnership Act came into existence in ______
a) 2010 b) 2008
c) 2020 d) 1932

Q2) Attempt any five out of seven from the following. [25]
a) Explain the importance of Public Sector.
b) Wrote a short note on ‘Leasing Model’
c) State the objectives of Privatization.
d) Explain the Report of Malhotra Committee.
e) Describe the role of Entrepreneur in Social Development.
f) Explain the types of E-Commerce in brief.
g) Discuss the ‘Organized Retail Selling’.

Q3) Attempt any five out of seven from the following. [25]
a) Explain the features of Company.
b) Write the functions of Business Model.
c) What are the objectives of Exim Policy?
d) Explain the concept ‘Logistics’ in detail.
e) State any five qualities of Entrepreneur.
f) Explain the types of Retail Selling.
g) Explain any five principles of Management.

Q4) Attempt any one out of two from the following. [10]
a) Define Administration and explain the features and importance of

Administration.
b) What is Private Sector? Explain the advantages and disadvantages of

Private Sector.


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(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-4661

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr 10 gmoS>dm. [10]
i) g§¶wº$ CnH«$‘ åhUOo H$m¶‘ ñdê$nr ............... hmo¶.

A) ^mJrXmar ~) ghH$mar g§ñWm
H$) ì¶{º$JV ì¶mnmar S>) darbn¡H$s Zmhr

ii) Zm|XUrH¥$V ‘mo~mB©b Z§~a da àË¶oH$ ì¶dhmamÀ¶m doir ............. {Xbm OmVmo.
A) AmoQ>rnr ~) AmoE‘Ama
H$) nrnr~r S>) E‘grAma

iii) bm°{OpñQ>³g hm eãX ............. ^mfoVyZ Ambm Amho.
A) ’«|$M ~) O‘©Z
H$) b°{Q>Z S>) J«rH$

iv) B-‘ob Ûmao .................. gmYbo OmVo.
A) {Z¶moOZ ~) g§KQ>Z
H$) g‘Ýd¶ S>) ì¶dñWmnZ

v) B-H$m°‘g© hr AË¶§V ............ à{H«$¶m Amho.
A) J{V‘mZ ~) gmdH$me
H$) {Za§Va S>) ¶mn¡H$s Zmhr

vi) J«mhH$ Am{U J«mhH$ ¶m§À¶mVrb ì¶dhma ............. À¶m A§VJ©V hmoVmV.
A) ~r 2 ~r ~) gr 2 gr
H$) ~r 2 gr S>) gr 2 E

vii) g§KQ>Zm hr .............. ì¶º$sMm g‘yh AgVo.
A) XmoZ ~) nmM
H$) Xhm S>) AZoH$

viii) g§gmYmZm§‘Ü¶o g§VwbZ amIUo g§KQ>ZoMo ................... H$m¶© Amho.
A) H$‘r ‘hËdmMo ~) ‘wb^yV
H$) Xþæ¶‘ S>) darbn¡H$s Zmhr
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ix) ì¶dgm¶ g§KQ>ZoMo ImOJr joÌ Am{U ............... Ago àH$ma nS>VmV.
A) ì¶mnma joÌ ~) CÚmoJ joÌ
H$) gmd©O{ZH$ joÌ S>) ì¶dgm¶ joÌ

x) ì¶{º$JV ì¶mnmamMr O~m~Xmar ............. AgVo.
A) ‘¶m©{XV ~) A‘¶m©{XV
H$) H$‘rV H$‘r S>) darbn¡H$s Zmhr

xi) ^mJrXmar ì¶dgm¶ hm ^mJrXmar H$m¶Xm .............. Zwgma MmbVmo.
A) 1932 ~) 1956
H$) 1992 S>) 2013

xii) ‘¶m©{XV Xm{¶Ëd ^mJrXmar H$m¶Xm ............ ‘Ü¶o ApñVËdmV Ambm.
A) 2010 ~) 2008
H$) 2020 S>) 1932

à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]
A) gmd©O{ZH$ joÌmMo ‘hËd ñnï> H$am.
~) {bqOJ à{V‘mZ ¶mda {Q>n {bhm.
H$) ImOJrH$aUmMr C{Ôï>¶o gm§Jm.
S>) ‘ëhmoÌm g{‘VrMm Ahdmb ñnï> H$am.
B) CÚmoOH$mÀ¶m gm‘m{OH$ {dH$mgmVrb ŷ{‘Ho$Mo dU©Z H$am.
’$) B-H$m°‘g©Mo àH$ma WmoS>³¶mV ñnï> H$am.
¶) g§K{Q>V {H$aH$moi {dH«$s ¶mda MMm© H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr 5 àíZ gmoS>dm. [25]
A) H§$nZrMr d¡{eï>¶o ñnï> H$am.
~) ì¶dgm¶ à{V‘mZmMr H$m¶} {bhm.
H$) Am¶mV-{Z¶m©V YmoaUmMr C{Ôï>¶o H$m¶ AmhoV?
S>) bm°{OpñQ>³g hr g§H$ënZm g{dñVa ñnï> H$am.
B) C>ÚmoOH$mMo H$moUVohr nmM JwU gm§Jm.
’$) {H$aH$moi {dH«$sMo àH$ma ñnï> H$am.
¶) ì¶dñWmnZmMr H$moUVrhr nmM VËdo ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUVmhr 1 àíZ gmoS>dm. [10]
A) àemgZmMr ì¶m»¶m gm§JyZ àemgZmMr d¡{eï>¶o d ‘hËd ñnï> H$am.
~) ImOJr joÌ åhUOo H$m¶? ImOJr joÌmMo ’$m¶Xo d VmoQ>o ñnï> H$am.


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Q1) Attempt any 10 out of 12 from the following. [10]

a) Gandhiji decided to take lessons in various fields to make himself a
perfect English gentleman. What were those fields?

b) ‘And they have their exits and their entrances’. What do the words ‘exits’
and ‘entrances’ mean?

c) What was called ‘pin money’?

d) On whose lives, Tolstoy’s stories are focused?

e) Which country appointed John Masefield as poet Laureate?

f) Which books are mentioned by Robert Lynd in the essay ‘The Pleasures
of Ignorance’?

g) Where, according to J.C. Hill, do good manners come from?

h) Whom does the poet address as ‘thee’ and ‘my father’ in ‘Where the
Mind is without Fear’?

i) What makes the narrator nervous at a bank?

j) What was the main reason for the composition of the essay ‘The Sporting
Spirit’?

k) Why was Wordsworth against conventional poetry?

l) What does the Fortune Teller revolve around?

P.T.O.
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Q2) Attempt any 05 out of 07 from the following. [25]

a) Bring out the nostalgic elements in the poem ‘My Grandmother’s House’?

b) How did the modern worker become ignorant and helpless?

c) What has made the essay ‘The Pleasures of Ignorance’ interesting? How?

d) Discuss how the poem ‘To Daffodils’ deals with celebration of nature.

e) What according to J.C. Hill, is the common factor about all boys and
girls?

f) According to the poet, how should knowledge be, in the poem ‘Where
the Mind is without Fear’?

g) What is the primary concern of ‘The Sporting Spirit’?

Q3) Attempt any 05 out of 07 from the following. [25]

a) What truths about humankind did Michael learn?

b) What is the message of the poem ‘Laugh and Be Merry’?

c) What decision has the author taken after the episode at the bank?

d) What are two things the poet mentions that he sees happening to mothers?

e) Comment on the linguistic landscape of ‘The Fortune Teller’.

f) How does Adam Smith appreciate the value of labour?

g) Describe ‘My Grandmother’s House’ as a confessional poem.

Q4) Attempt any 01 out of 02 from the following. [10]
a) What is the central idea of the poem ‘My Grandmother’s House’? Explain

in detail.
b) Draw a character sketch of the narrator of the story ‘My Financial Career’.


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2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-4663

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr Xhm àíZm§Mr CÎmao àË¶oH$s drg eãXm§V {bhm. [10]

i) {Z~§Y åhUOo H$m¶?

ii) ‘hmamÁmm g¶mOramd Jm¶H$dmS> ¶m§Mm OÝ‘ H|$ìhm d H$moR>o Pmbm?

iii) "Ho$br nU eoVr' ¶m boImMo boIH$ H$moU AmhoV Vo {bhm?

iv) "CËH$f©dmQ>m', ¶m nmR>²¶nwñVH$mVrb eaX Omoer ¶m§Mo ¶moJXmZ hm boI H$moUr {b{hbm Amho?

v) "kmZ¶wJmVrb ZoV¥Ëd' ¶m boImVyZ ‘m§S>boë¶m H$moUË¶mhr XmoZ g‘ñ¶m {bhm?

vi) "Mbm Oam H$m‘ H$ê$' ¶m boImV amOoe ‘§S>{bH$ ¶m§Zr H$moUË¶m XoemÀ¶m ôQ>rVrb àdmgmVrb
AZŵ d H$WZ Ho$bo Amho?

vii) "^maV {dH$mg J«wnMo' g§ñWmnH$ H$moU AmhoV?

viii) AO©boIZ åhUOo H$m¶?

ix) B{Vd¥Îm åhUOo H$m¶?

x) AmOMo ¶wJ H$emMo ‘mZbo OmVo?

xi) Om{hamVtMr ‘mÜ¶‘o {bhm?

xii) Zr{b‘m {‘lm ¶m§Zr H$moUË¶m g§ñWoMr ñWmnZm Ho$br?

[Total No. of Pages : 3
SEAT No. :

P.T.O.



2[5952]-SODL-119

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr nmM àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. [25]

i) "ghH$mar Midi, eoVr Am{U gwYmaUm', ¶m boImVyZ ‘hmamOm g¶mOramd Jm¶H$dmS> ¶m§Mo H$m¶©
ñnï> H$am?

ii) "Ho$br nU eoVr', ¶m boImV ho‘m§Jr Om§̂ oH$a ¶m§À¶m Jm§Sy>i eoVrMo ‘hÎd {bhm.

iii) ¶w{ZH$moS> dmnamMo ’$m¶Xo {bhm?

iv) ‘m{hVrnÌH$mMr Amdí¶H$Vm WmoS>³¶mV ñnï> H$am?

v) Vw‘À¶m {‘ÌmMm embmÝV narjoV JwUdÎmm ¶mXrV àW‘ H«$‘m§H$ Ambm. Ë¶mbm A{^Z§XZ na nÌ
{bhm?

vi) gmam§eboIZmMo ‘hÎd ñnï> H$am?

vii) Imbrb nm[a^m{fH$ g§kmMm ‘amR>r AW© {bhm?

1) Admission

2) Bio-data

3) Certificate

4) Senior

5) Workshop

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr nmM àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. [25]

i) "eaX Omoer ¶m§Mo ¶moJXmZ', ¶m boImVyZ ^maVmVrb Xm[aÐçmMr H$moUVr H$maUo gm§{JVbr AmhoV?

ii) B{Vd¥ÎmboIZ åhUOo H$m¶? Vo gm§JyZ B{Vd¥Îm boIZmMo àH$ma WmoS>³¶mV ñnï> H$am?

iii) Omhra {ZdoXZmMo KQ>H$ ñnï> H$am?

iv) Vwåhr {ejU KoV Agboë¶m ‘hm{dÚmb¶mVrb Aä¶m{gH$m Iwbr H$aÊ¶m~m~V ‘hm{dÚmb¶mÀ¶m
àmMm¶mªZm {dZ§Vr AO© H$am?

v) ^mfm§VamMo ‘hÎd ñnï> H$am?

vi) AmH$medmUrgmR>r Om{hamV boIZ H$aVmZm nmimd¶mÀ¶m gyMZm ñnï> H$am?
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vii) Imbrb B§J«Or ^mfoVrb CVmè¶mMo ‘amR>r ^mfoV ^mfm§Va H$am?

Freedom is the greatest gift. God can give nation, but freedom is a
strang gift. If we do not wish to lose freedom, we should show our love
for it. This love we must show both in words and deeds. It is not enough
to say, I am Indian and I am proud of it. We must ask ourselves, ‘Is our
motherland proud of us?’ Love is shown in sacrifice are we ready to die
for our country?

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma gw‘mao 200 eãXm§V {bhm. [10]

i) "~rO‘mVm: amhr~mB© nmonoao', ¶m boImVyZ amhr~mB© nmonoao ¶m§Mo eoVr{df¶H$ H$m¶© g{dñVa ñnï>
H$am?

ii) "^maV {dê$Õ lrb§H$m' ¶m§À¶mVrb EH$m{Xder¶ {H«$Ho$Q> gm‘Zm nwÊ¶mV ¿¶mdm H$s H$moëhmnya
¶mMr nmhUr H$aÊ¶mgmR>r Zo‘boë¶m g{‘VrMo B{Vd¥Îm V¶ma H$am?


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g‘¶ : 3 K§Q>o] [ Hw$b A§H$ : 70
gyMZmE± …- 1) g^r àíZ A{Zdm¶© h¡&

2) Xm{hZr Amoa Ho$ A§H$ àíZ Ho$ JwU Xem©Vo h¡&

PA-4664

à.à.à.à.à.1) {ZåZ{b{IV àíZm| Ho$ Odm~ EH$ dm³¶ ‘| {b{IE& ({g’©$ 10) [10]

i) Y‘©dra ^maVr Zo 1960 go 1987 VH$ {H$g n{ÌH$m H$m g§nmXZ {H$¶m&

ii) Xþî¶§V Hw$‘ma Ho$ nhbo H$mì¶g§J«h H$m {ef©H$ ³¶m h¡?

iii) {H$gr ^r H$hmZr H$m g~go ‘hËdnyU© VËd ³¶m hmoVm h¡?

iv) ‘CgZo H$hm Wm’ H$hmZr Ho$ boIH$ H$m Zm‘ ³¶m h¡?

v) {ejmemór Ed§ ^mfmd¡km{ZH$m| Zo d¡km{ZH$Vm Ho$ {bE H$m¡Z-gr {b{n H$s gamhZm H$s h¡?

vi) ’$moQ>© {d{b¶‘ H$m°boO Ho$ qhXþñWmZr {d^mJ Ho$ àW‘ AÜ¶j H$m¡Z Wo?

vii) qhXr H$mì¶Ymam ‘| H$m¡Z-gr H${dVm H$m ‘hËd h¡?

viii) H${d H§w$da Zmam¶U {H$go g~go ~S>m ‘yë¶ ‘mZVo h¡?

ix) H$Wm H$hZo Am¡a gwZZo H$s na§nam H$m gyÌnmV ^maV ‘| H$~ go ewê$ hþAm?

x) ‘gbm‘’ H$hmZr ‘| {H$gH$s emXr H$m {MÌU h¡?

xi) ‘g§dmX’ {H$g ^mfm H$m eãX h¡?

xii) ‘erZ AZwdmX àUmbr {H$gHo$ A§VJ©V ‘mZr OmVr h¡?
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à.à.à.à.à.2) {ZåZ{b{IV àíZm| Ho$ CËVa g§jon ‘| (50 go 100 eãXm|) ‘| {b{IE& ({g’©$ 5) [25]

A) ‘ñdXoe Ho$ à{V’ H${dVm {H$g ^mdZm go aMr JB© h¡?

~) ‘CXmg Vw‘’ H${dVm ‘| H${d Zo {H$g AZŵ y{V¶m| na àH$me S>mbm h¡ ¶h g§jon ‘| {b{IE&

H$) qhXr gm{hË¶ H$s ^{³VH$mb H$mì¶Ymam H$m g§jon ‘| n[aM¶ Xr{OE&

S>) ‘O§JbXmh’ H$hmZr H$s H$WmdñVw g§jon ‘| {b{IE&

B) ‘ì¶Wm H$m gaJ‘’ H$hmZr {H$Z hmbmV H$mo H|$Ð ‘| aIH$a {b{I JB© h¡?

’$) XodZmJar Ho$ àMma-àgma ‘| H|$Ðr¶ qhXr {ZXoeZmb¶ H$s H$moB© ^r nm±M ¶moOZmE± g§jon ‘| {b{IE&

¶) B©-‘¡¡JOrZ Am¡a B©-nong© ³¶m h¡? g§jon ‘| {b{IE&

à.à.à.à.à.3) {ZåZ{b{IV àíZm| Ho$ CËVa g§jon ‘| (50 go 100 eãXm|) ‘| {b{IE& ({g’©$ 5) [25]

A) ‘H$bJr ~mOao H$s’ H${dVm H$m ‘ybñda g§jon ‘| {b{IE&

~) H$d{¶{Ì H$m§Ë¶m¶Zr Ho$ H$mì¶ ‘| ñÌr Ho$ H$m¡Z-go ê$n A{^ì¶³V hþE h¡ g§jon ‘| {b{IE&

H$) qhXr Ho$ AmYw{ZH$ gm°âQ>doAa Qw>b g§jon ‘| ~VmBE&

S>) Amo‘àH$me dmë‘r{H$ Ho$ boIZ H$s {deofVm g§jon ‘| ñnîQ> H$s{OE&

B) eoIa Omoer H$s H$hm{Z¶m± {H$Z bmoJm| go à^m{dV h¡, Cg na àH$me S>m{bE&

’$) ‘{MÇ>r’ H$hmZr Ho$ amoMH$ nhbwAm| H$mo g§{jßV ñdê$n ‘| ñnîQ> H$s{OE&

¶) AZwdmX H$mo H$bm Ho$ ê$n ‘| ‘mZZodmbo {dX²dmZm| H$m ³¶m A{^àm¶ h¡?

à.à.à.à.à.4) {ZåZ{b{IV àíZm| Ho$ CËVa {dñVma go {b{IE (100 go 200 eãXm| ‘|) ({g’©$ 1) [10]

A) H$hmZr {dYm Ho$ {d{^ÝZ VËdm| H$m n[aM¶ {dñVma go {b{IE&

~) B§Q>aZoQ> H$s Cn¶mo{JVm Am¡a CgH$s H$m¶©àUmbr {dñVma go ñnîQ> H$s{OE&


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